ICAR PCB 02

Topic:- PCBO2P

1) A convex lens has 20 cm focal length in air. What will be its focal length when placed in a transparent liquid? (Miiquid =
1.3, Hglass = 1.5)

fep2il Ieiet cixa DI ary 3 wiwA g3t 20 cm & =il urcei™ ga 3 3 Sirel U $ADI BIdA ¢ aT sl :

(Hea =1.3, Haosia=1.5)

[Question ID = 251][Question Description = 101_S2_PHY_SEP22_Q01]

1. 20cm

[Option ID = 1001]
2. 26 cm

[Option ID = 1002]
3. 30cm

[Option ID = 1003]
4, 104 cm

[Option ID = 1004]

2) A convex lens forms a real image of a point object placed on the principal axis. If the upper half of the lens is painted
black, what will happen to the image?

o=t I of1 3 genet 3181 UR 3 91u b=l fdog ucrel @1 arafd® gfeifdea dorar @ Afc ¢t @ SU3 318 HIST DI DIl 391 A I8 SR & dl
gfeifasa o1 a=m gem ?

[Question ID = 252][Question Description = 102_S2_PHY_SEP22_Q02]
1. it will be shifted downward

g ofld bt o 3f sialda 2t smosm

[Option ID = 1005]
2. it will be shifted upward

&g Sedggdt o 3t ity gem

[Option ID = 1006]
3. no image will be formed

oIS yferfdaa ofdl sotorm

[Option ID = 1007]
4. it’s intensity will decrease

A g ae Sesft
[Option ID = 1008]

3) The optical path of a monochromatic light is the same if it goes through 2.0 cm of glycerine or 2.3 cm of water. If pyater
= 1.3 the refractive index of glycerine will be?

afe oI vopafvfes yeror 2.0 cm Beridler ar 2.3 cm Sier A Blb? IERAT & Al 3! Yomiofia aet adl wear 3 afe Yyg= 1.3 a1 al Berrfiar &1
3gacdol IJadic a1 BIPI ?

[Question ID = 253][Question Description = 103_S2_PHY_SEP22_Q03]

1. 1.60

[Option ID = 1009]
2. 1.50

[Option ID = 1010]
3. 1.40

[Option ID = 1011]
4. 1.33

[Option ID = 1012]



4) Wave nature of particle was first experimentally observed by,

YRS dk UR Bul &l awr-ymfda Adyenpt ead orr Yféia g8 off ?

[Question ID = 254][Question Description = 104_S2_PHY_SEP22_Q04]

1. Louis de Broglie

gr St-gloct

[Option ID = 1013]
2. Albert Einstein

3rcad 3mscior

[Option ID = 1014]
3. Davisson and Germer

3ot 3l ek

[Option ID = 1015]
4. Millikan

Rrcefiaper

[Option ID = 1016]
5) How much energy is required in hydrogen atom to excite an electron to second excited state from its ground state?

BI53Isiol URAIY] 3 fpil scracior ol A3l srazen A il Ao srazen 3 31fsia ol @ fere fpaeit Jeif & smagamar usd 3 ?

[Question ID = 255][Question Description = 105_S2_PHY_SEP22_QO05]
1. 12.09 eV

[Option ID = 1017]
2. 10.2 eV

[Option ID = 1018]
3. 3.4eV

[Option ID = 1019]
4. 1.5eV

[Option ID = 1020]

6) A radioactive substance has a half life of 12.5 y. What fraction of the substance will decay in 50 y?
o=t et ucrel @t srg-Shact 12.5 ad &t 50 adl 3 ucref @ fbdor sior (froet) @1 g1 gom ?

[Question ID = 256][Question Description = 106_S2_PHY_SEP22_QO06]
1
1.

8
[Option ID = 1021]
2. 7

8

[Option ID = 1022]

3. &
16

[Option ID = 1023]
4. 15

16
[Option ID = 1024]

7) Aring of radius r contains a charge q distributed uniformly over its length. Find the electric field at the centre of the
ring.

r forsan arc et acrr 3 q smagr siafdfee 3 3 sl ciars i ues Ferer U A falya e srn 3 A acrr & dog 3 fagga &1 sira Hifse ?

[Question ID = 257][Question Description = 107_S2_PHY_SEP22_QO07]
q
) PGS —
{4meyr?)

[Option ID = 1025]
2. 9
(4megr)




[Option ID = 1026]
3. Zero

US

[Option ID = 1027]
4. 9 _
{4meyr?)

[Option ID = 1028]

8) A proton and an electron are placed in a uniform electric field. We can say,
o=t eReu Rl &I 3 vp giciol 3R U sciaciol I IR & dl Dl SII ADI & b -

[Question ID = 258][Question Description = 108_S2_PHY_SEP22_QO08]
1. The electric force acting on them will be equal

30l R PRI dgld dcl UPAol BB

[Option ID = 1029]
2. The magnitude of forces will be equal

qeil @1 uf¥dmT vds et eI

[Option ID = 1030]
3. There accelerations will be equal

3GIPT U1 U Gl BT

[Option ID = 1031]
4. The magnitude of their accelerations will be equal

oI Uil I uf¥armur Ba3eIel BloT

[Option ID = 1032]

9) Acharge Q is placed at a distance a/2 above the horizonal square surface of edge a as shown in
fig. Find the flux of the electric field through the square surface.

for & iy e SR et a v % &ftw oo wos & I a2 gt W @ s |
¢ 1 aieR TdE ¥ SR ued 9 agqd &3 &1 Hifialg (W) 19 S

s

—t
[ af2

a

[Question ID = 259][Question Description = 109_S2_PHY_SEP22_Q09]
. Q
€o
[Option ID = 1033]

2. @
2eg

[Option ID = 1034]

3. =,
()Cg

[Option ID = 1035]
4. Zero

oo
[Option ID = 1036]



10) The equivalent resistance of the network shown in fig. between points a and b when (a) switch 5
is open and (b) switch sis closed will respectively be,

o ¥ g=iiy U Jead &1 &g a R b & 9 GOQeT WY 5 O (a) fE s g9 2 3R ()
Rgg s g, w9 g

LT AT k WA

zn B
8

AN WA
(7¥y] 1Z0

[Question ID = 260][Question Description = 110_S2_PHY_SEP22_Q10]
1. 8Q, 9Q

[Option ID = 1037]
2. 90, 80

[Option ID = 1038]
3. 40, 180

[Option ID = 1039]
4. 180, 40

[Option ID = 1040]

11) Inthe given circuit, the length of the potentiometer wire is 600cm.At what distance from the point
A should the jockey touch the wire to get zero deflection?

fau T oftgy &, fAveard aR S TEE s00cm E R I RAT TS sE F Riu At I fagA®

ot gt man = =l s =ty -
av . AR in |
i 150 | 8
@
[Question ID = 261][Question Description = 111_S2_PHY_SEP22_Q11]
1. 280 cm

[Option ID = 1041]
2. 300 cm

[Option ID = 1042]
3. 150 cm

[Option ID = 1043]
4. 320 cm

[Option ID = 1044]

12) A charge particle having charge q and mass m is accelerated by a cyclotron. There exists a uniform magnetic field B
inside the cyclotron. Then the cyclotron frequency v. is given by

391 q 3R godtel M arct et srafdra vt @1 Arsadiclar GRI cafdd s siar 3 Aadidel @ iR Td WIReU geadia &1 B fepimer 3
dl Asadiclel gl v foretifdea 3 A a=u et :

[Question ID = 262][Question Description = 112_S2_PHY_SEP22_Q12]

1. 48

2mm

[Option ID = 1045]
B

2mmq

[Option ID = 1046]
q

2mmB

[Option ID = 1047]
4, B4
2nB



[Option ID = 1048]

13) The horizontal component of earth’s magnetic field at a place is 3.6 x 103 T where the dip is 60°: Find the magnitude
of earth’s magnetic field.

fop=ft zerror uz yedt & gadbler 8l @ Siferst e 3.6 x 10 T 3 siai offer wtor 60° 3 A gedt & ggadla &g @1 uf¥enor sira HIRT :

[Question ID = 263][Question Description = 113_S2_PHY_SEP22_Q13]
1. 1.8x105T

[Option ID = 1049]
2. 3.6x105T

[Option ID = 1050]
3. 7.2x105T

[Option ID = 1051]
4. 416 x105T

[Option ID = 1052]

14) Magnetic meridian is,

GIGDRI ATRNTR BT 3 :
[Question ID = 264][Question Description = 114_S2_PHY_SEP22_Q14]
1. apoint

b fiog

[Option ID = 1053]
2. avertical plane

Jedfez s

[Option ID = 1054]
3. a horizontal plane

Siferst s

[Option ID = 1055]
4. aline along north-south

IR-afér bt Jxar
[Option ID = 1056]

15) A bar magnet made of steel has magnetic moment 2.5 A m? and mass 6.6 x 102 kg. If the density
of the material is 6.6 x 10% kg m2, find the intensity of magnetization of the magnet.

T | i el graeia o @ gEeta STl 2.5 A m2 SR GeEE 6.6 x 102 kg B 37 gErd
S99 66 x 10°kg m3, § O 6% & g &) diadl J1d Sy -

[Question ID = 265][Question Description = 115_S2_PHY_SEP22_Q15]
1. 2.5x10°Am™!

[Option ID = 1057]
2. 2.5x 105 Am"

[Option ID = 1058]
3. 1.25x105Am"!

[Option ID = 1059]
4. 1.25x 105 A m!

[Option ID = 1060]

16) A rod of length | is translating with a velocity v making an angle 6 with its length as shown in the fig. A uniform
magnetic field B exists normal to the plane of motion. The emf induced in the rod will be.

| crear$ bl BIE B3 v Ae1 A Fereliafia Bl gu Riq 3 gorfu s1u SRR el ciaré 31 0 DIV o6l 61 & 3Ifel Bl Ads UR IRU I 81 B
AHIG WU A frepnet 3 a 83 d Yia e geadkn aa (emf) dom ¢



[Question ID = 266][Question Description = 116_S2_PHY_SEP22_Q16]
1. Blv

[Option ID = 1061]
2. Blv sin®

[Option ID = 1062]
3. Blv cos®

[Option ID = 1063]
Blv

cosB

[Option ID = 1064]

17) Which one of the following curves represent the variation of capacitive reactance X; of a
capacitor with the variation of frequency f in an ac circuit?

foredt el umy oftoy F omfy ¢ & R § el S =t dure afifem X =1 i
S fr s afsaems 2

Xc

(k)

(e}

[Question ID = 267][Question Description = 117_S2_PHY_SEP22_Q17]
1. (a)

[Option ID = 1065]

2. (b)

[Option ID = 1066]
3. (¢)

[Option ID = 1067]
4. (d)

[Option ID = 1068]

18) A series circuit when connected to 20 V dc, a current of 4 A flows in the circuit. The same circuit when connected to
20 V ac, a current of 2 A flows in the circuit. Identify the circuit.

fop=it gjuft uf¥aer @1 20 V i fee et A Siisol U= ufuer 3 4 A &t e gaifda aidl & 34 ufaer @1 20 V &t yenadt et 23 Siis Siret 6t
gol 31 2A I a1 gyaifada 2l &, al ufeuer &I usare difste : -

[Question ID = 268][Question Description = 118_S2_PHY_SEP22_Q18]
1. LCR

[Option ID = 1069]
2. LR

[Option ID = 1070]
3. CR

[Option ID = 1071]



4. only resistive circiut
dact yfeRtedt ufuer
[Option ID = 1072]

19) In vacuum if C is the velocity of light, po is the permeability and g is the permittivity, we can write
forata & afe C gwo191 @I A°1 3, Ho URSIRIAI 3 3iR € Rregaofiaerar 3 dl fowatifipa 3 A ®lal 2 siftrcuftp 318t 3 :-
[Question ID = 269][Question Description = 119_S2_PHY_SEP22_Q19]

1. o=t
Koo
[Option ID = 1073]
1
2. C=
o Mo
[Option ID = 1074]
3, pate
Ep

[Option ID = 1075]

4. ¢ = Ho
Ep

[Option ID = 1076]
20) If the frequency of light in photoelectric experiment is doubled, the stopping potential will,

afe geprer frea yRIeT 3 goster i g o1 3fofl @2 1 Sre dl srarierd fanra -

[Question ID = 270][Question Description = 120_S2_PHY_SEP22_Q20]
1. be doubled

G Ul BT

[Option ID = 1077]
2. be halved

SITET BB

[Option ID = 1078]
3. become more than double

S 3pum A 3iférs A Smesn

[Option ID = 1079]
4. become less than double

S Ul 3 DIl BBIT
[Option ID = 1080]

21) Light emitted from a hydrogen atom due to transition from n = 4 to n = 2 falls on Cesium metal (work function = 1.9
eV). Maximum kinetic energy of the photoelectrons emitted will be,

fop2fl arEglelel U] A IcAfId Yab19l N =4 A N = 2 & @A D SRIel AR &Irg uR muferd alar 3 (erf werol = 1.9 eV) al 3cafia
gabI9l sciaciol &t siferadar siferst et et ©

[Question ID = 271][Question Description = 121_23_PHY_SEP22_Q21]

1. 2.55eV
[Option ID = 1081]
2. 0.65eV
[Option ID = 1082]
3. 25.5¢eV

[Option ID = 1083]
4. 6.5eV

[Option ID = 1084]

22) The average life of a radioactive nuclei is given by. ( A=decay constant , ti/2 = half life)

ot IAentt sifSiddeg (cufdias) o1 3iiRid Silaet ®ret =i 3em @ (A=3mugrI Reric , ti/2 = 3ig Sidcimre)



[Question ID = 272][Question Description = 122_S2_PHY_SEP22_Q22]
t
1. 1/2
0.693

[Option ID = 1085]
2. ti2 X 0.693

[Option ID = 1086]
3. |

A

[Option ID = 1087]
4. A

[Option ID = 1088]

23) To make an n-type semiconductor from silicon, we should use the dopant material like
RiferadTer A N-gReu I 31 AT Follol D fe1u 331 AGD forrssiad uarel o YRileT woll aifdu : -

[Question ID = 273][Question Description = 123_S2_PHY_SEP22_Q23]
1. Aluminium

weyfdforen

[Option ID = 1089]
2. Boron

dRlel

[Option ID = 1090]
3. Carbon

Dreol

[Option ID = 1091]
4. Phosphorus

BRBIZA

[Option ID = 1092]

24) ldentify the gate from the truth table give below,
ofid & o€ AaIel ARV A sic @1 Rizifesa Hifse :

Input/Output|
A|B| Y
ool 0
o(1| 0
10| O
11 1

[Question ID = 274][Question Description = 124_S2_PHY_SEP22_Q24]
1. AND Gate

[Option ID = 1093]
2. OR Gate

[Option ID = 1094]
3. NOT Gate

[Option ID = 1095]
4. NAND Gate

[Option ID = 1096]

25) To convert a galvanometer to a voltmeter we should connect with the galvanometer,
fop2ft Sicdeiiatics oI dlccsiies 3 Aufrafetfa o & farw &3l Sicdoisiic: @I Siisen mfdy

[Question ID = 275][Question Description = 125_S2_PHY_SEP22_Q25]
1. a high resistance in parallel



JAATOTIAR I Yferer

[Option ID = 1097]
2. alow resistance in parallel

AR ool Yferler

[Option ID = 1098]
3. a high resistance in series

9AICIId.g I Yferter

[Option ID = 1099]
4. a low resistance in series

9JICIIA.g ool Yferler
[Option ID = 1100]

26) Calculate the angle of 1°(degree) in radians

336t 9 1° DYt @1 uf¥ascror BRI :

[Question ID = 276][Question Description = 126_S2_PHY_SEP22_Q26]
1. 1.745 x 102 rad

[Option ID = 1101]
2. 1.745 x 102 rad

[Option ID = 1102]
3. 2nrad

[Option ID = 1103]
T

4., ——— rad
360

[Option ID = 1104]

27) The resistance R = V/I, where V = (100 + 3) Vand | = (10 £ 0.2) A. Find the percentage error in R.
gferRterR = V/l stV = (100 + 3) Vaen | = (10 £ 0.2) A, R 3 yferora gfe sma $ifsie :

[Question ID = 277][Question Description = 127_S2_PHY_SEP22_Q27]
1. 1%

[Option ID = 1105]
2. 1.5%

[Option ID = 1106]
3.3%

[Option ID = 1107]
4. 5%

[Option ID = 1108]
28) Dimensional formula for wave number is,

391 e ot foefir 33 3 ?
[Question ID = 278][Question Description = 128_5S2_PHY_SEP22_Q28]
1. [MOL-1TO]

[Option ID = 1109]
2. [MOLOT-1]

[Option ID = 1110]
3. [MOL'TO]

[Option ID = 1111]
4. [MOLOT1]

[Option ID = 1112]

29) Spherometer instrument is used for the measurement of,

Siicarl @i @1 YRieT forgetifcsd 3 A fparad ufyenmu o fore fopen sirer 3 ¢



[Question ID = 279][Question Description = 129_S2_PHY_SEP22_Q29]
1. Height of distant building

gael 91dol I Hars
[Option ID = 1113]

2. Cross-section of circular wire
JAIPR AR DI 3oy WS

[Option ID = 1114]
3. angular diameter of sun

31t b1 DIvfRr R
[Option ID = 1115]

4. radius of curvature of convex lens
Ieiel et &b aagar & fofsen
[Option ID = 1116]

30) A perfectly elastic ballis dropped from a building 30 m high. After hitting the ground, it comes back
fo the point from where it was dropped. The v-t (velocity-time) graph for the entire joumney is
represenied by,

gufe: HETRI T2 F1 30m Sl §HING & A9 T 91 81 S W 2 & 916 95 99 ¥ T
T T T & Tl 59 SET T T WS =0 H IR O & v+t (Fem) o P B 8
frod Prefa s e

(a) (b)

T

i

‘ (c) (d)

[Question ID = 280][Question Description = 130_S2_PHY_SEP22_Q30]
1. (@)

[Option ID = 1117]
2. (b)

[Option ID = 1118]
3. (¢)

[Option ID = 1119]
4. (d)

[Option ID = 1120]

31) A person moving with uniform velocity V1 covers half of the distances and next half of the distance with uniform
velocity V;. His average velocity for the entire journey will be,

@I caftb G Adrel do1 V1 A 316l D gu el gl aa wdr 3 iz orw amelt it Adeu dor1 Vo 3 Y1 @dr 3 dl g3l Argr d A1 iiad dor
3o ¢

[Question ID = 281][Question Description = 131_S2_PHY_SEP22_Q31]
1. (Vi +Vp)/2



[Option ID = 1121]
2. [+,
[Option ID = 1122]
Vivz

[Option ID = 1123]
1. WV )
2V, + Vs,

[Option ID = 1124]

32) A person sitting in a balloon which is moving upward with a uniform velocity 20 m s*! drops a stone when the balloon is
at height of 25 m from the ground. How much time the stone will take before it reaches the ground? (g = 10 m s2)

oI calRp Rl dcgor 3 Jo1 5311 3 Sit 20 M s D wIeu Aot A Ied R I swIcl B2 61 3 32 S Jcgel sieflet A 25 M B Farf w2 2 Al a6 TB
ucerR ofidl BRIcr 3 Al ucer @l siofiel Uz ugael A usel ool Jer c@Pn ? (g = 10 m s2)

[Question ID = 282][Question Description = 132_5S2_PHY_SEP22_Q32]
1. 55

[Option ID = 1125]
2. 3s

[Option ID = 1126]
3. 25

[Option ID = 1127]
4. 1s

[Option ID = 1128]

33) Find the resultant of the vectors 0A OB and OC shown in fig. Radius of the circle is R. (only
magnitude)

fom & zmfy 7u aEr 92w oA OB X oc # oo WX 7 Evh o9 # A= R B (Faw ofEm)

C

o/

450
2y A

[Question ID = 283][Question Description = 133_5S2_PHY_SEP22_Q33]
1.
Rv2

[Option ID = 1129]
2. R

[Option ID = 1130]
3. 3R

[Option ID = 1131]
4 R (1+y2)
[Option ID = 1132]
34) A projectile of mass m is thrown with a velocity v and at an angle § with the horizontal. The force
acting on the projectile during its total journey will be

SOHM M F U VAR v 3§ g HI0 W 4R T § HE 9l o) §99] S0 OF & GRH
FATUIRE T 99T 89 &1 -

[Question ID = 284][Question Description = 134_5S2_PHY_SEP22_Q34]
1. Zero



Yot

[Option ID = 1133]
2. mg

[Option ID = 1134]

3. mgsine
[Option ID = 1135]

* mg cos 8

[Option ID = 1136]

35) A mass of 6 kg is suspended by light string of length 2 m from the celling. A force of 80 N, is
applied at the mid-point of the string as shown in fig. what is the angle the rope makes with the
vertical in equilibrium? (g = 10 ms2)

6 kg F1 $I5 [JUS 2 M bl THAI 51 B § e/l ol ol fo & S 10 SrgER, T $
He1 &g T 60 N &1 5 Ugad oial o1 @1 59 a¥ & §ageadl 4o g S@lER Y § S5/ 7] S
FE?(@=10ms?)

GON

G kg
[Question ID = 285][Question Description = 135_5S2_PHY_SEP22_Q35]
1. 30°

[Option ID = 1137]
2. 45°

[Option ID = 1138]
3. 60°

[Option ID = 1139]
4. 75°

[Option ID = 1140]

36) A cyclist speeding with uniform velocity on a level road takes a sharp circular turn of radius 4 m without reducing the
speed. The co-efficient of static friction between the tyres and the road is 0.4. If the cyclist does not slip, the maximum
speed cyclist can move will be, (g = 10 m s2)

P21l AT ISP UR IRU I3 A 36l Dol dIell AT bl AAR 3ol arel o fpu et 81 4 m bl fofs=r A G gAroR AlS odl & TRR 3R
Fs® D dia @ Rerferst adur apiics 0.4 3 Afe Asfpa Jar fbcrdr o1él 3 dl Arsikver AarR & siffrwdaan aifer a=im avh ? (g = 10 m s2)

[Question ID = 286][Question Description = 136_S2_PHY_SEP22_Q36]
1. 16 ms™!

[Option ID = 1141]
2. 4ms!

[Option ID = 1142]
3. 2mst

[Option ID = 1143]
4, 8mst

[Option ID = 1144]

37) A cyclist comes to a skidding stop in 10 m. During the process, the force on the cycle due to the road is 200 N and
directly opposed the motion. How much work does the road do on the cycle ?

uep Arsfeper FAar 10 m 3 Jrdur forrar Rrerfer 3 3 sirar 3 321 yfgrnn 3 150 @ @Rl Arsfipa ur usoraren e 200 N 3 3z a6 sifer & fareama
faudia 2 aI Iso Asfoa uz edon orl war 3 ?

[Question ID = 287][Question Description = 137_S2_PHY_SEP22_Q37]
1. Zero



9poat

[Option ID = 1145]
2. 2000 J

[Option ID = 1146]
3. -2000 J

[Option ID = 1147]
4. -200J

[Option ID = 1148]

38) A body of mass 2 kg dropped from a height h reaches the ground with a speed 0.64/gh. Calculate
the work done by the air friction. (g =10 m s2)

2 kg TOTHA BT H1s 0Us h Farg F e fiem o € o) 98 0.6,/gh F I F wHE W ugTa g
i1 9T TN I Ha H1A Bl A9 B (g =10 m s

[Question ID = 288][Question Description = 138_23_PHY_SEP22_Q38]
1. 16.4h

[Option ID = 1149]
2. -16.4h

[Option ID = 1150]
3. 3.6h

[Option ID = 1151]
4. -3.6h

[Option ID = 1152]

39) A man of mass 80 kg is standing over a platform of mass 120 kg kept on smooth ice. If the man starts moving with a
speed 20 m s! relative to the platform, with what velocity relative to ice does the platform recoil?

80 kg astol arell BIF wIftp Rivol aw uz 33 a1¢ 120 kg goasirel dIcl ticwil (agerr ) Uz 31 3 Al a6 wicwit &t getorr 3 20 ms™! &t ara
3 31T Bl AR BT & ¢l G DI defoll 3 telewTd fpar Je1 A gferfdra drar 3 ?

[Question ID = 289][Question Description = 139_5S2_PHY_SEP22_Q39]

1. 20ms!

[Option ID = 1153]
2. 12ms!t

[Option ID = 1154]
3. 16mst

[Option ID = 1155]
4. 8ms!

[Option ID = 1156]

40) A body falling vertically downward under gravity breaks into two parts of unequal masses. The centre of mass of the
two parts taken together will,
3edierR U A oiikl di fGonr 3 sRecarmtur A Bl arelr @I s 31 3RIAT6T godAret dIdl gabsl A faIfSia dlar 3 dl Slell ¢Sl @ dmel gaAdrel oI
@og -
[Question ID = 290][Question Description = 140_S2_PHY_SEP22_Q40]
1. Shift towards heavier mass

SrisTad 3ifer o3t ool bt e 3t siafyd sem

[Option ID = 1157]
2. Shift towards lighter mass

3By Bed godtlol bl f&or 3t siaf¥d gem

[Option ID = 1158]
3. Not shift horizontally

SifersT U 3 3icIf¥ ofdl Blomm

[Option ID = 1159]
4. Shift towards heavier or lighter mass depending on their vertical velocity

3ol ¢Sl D JtdfeR IoT D IARIR W 3D 3] 3ferdr 3ifefd scd goIATel I 3R AR alon



[Option ID = 1160]

41) Arod of mass m and length | is kept vertical while the lower end is clamped. It is slightly pushed
and falls under gravity. Find its angular speed when rod is passing through lowest point. Neglect
any friction at the clamp.

FEEA m 3R WSS | T T 55 SR T O & o 1 3 S5 891 gan 81 59 R & yem B
TR IR EamIn At s FR s e R Tm i e ss e Pan g s e wr g @
TS S0 9Te =91 11 2 (9 & 990 TR 9 T8l &)

[Question ID = 291][Question Description = 141_S2_PHY_SEP22_Q41]
1. "lﬁg,fl

[Option ID = 1161]

2. 4g/l
[Option ID = 1162]
3. 12g/1

[Option ID = 1163]
4. “’g{l

[Option ID = 1164]



42) The variation of gravitational potential V due to uniform thin spherical shell as a function of
distance from the centre of the shell r is correctly represented by. (R = radius of shell)

F99 B F H5 9 gl & BoF 5 T H GAEY I60 MMeR $99 5 [Eamyn g v B
faraor siex Fgifea & § forw st & wdts @@ T 2 - (R = ®ag &t B

(a) (bl

(c) ()
[Question ID = 292][Question Description = 142_S2_PHY_SEP22_Q42]
1. (a)

[Option ID = 1165]
2. (b)

[Option ID = 1166]
3. (@)

[Option ID = 1167]
4. (d)

[Option ID = 1168]

43) The time period of a satellite going round the earth is 4 h at a radial distance R from the centre of the earth. It the
radial distance is increased to 4R, the new time period will be,

gedl &I uf¥aer oo aral el 3usys @1 sndam e gedl & dog A fiza® it R ur 4h 3 afe e gt a1 4R @2 & sl & af o=
racdId 3P :

[Question ID = 293][Question Description = 143_S2_PHY_SEP22_Q43]
1. 4h

[Option ID = 1169]
2. 32h

[Option ID = 1170]
3. 16 h

[Option ID = 1171]
4. 64h

[Option ID = 1172]

44) When a wire is put under a tensile stress, the elastic potential energy gained by the wire is,

Sid fepil ar &l dovr yferad @ siefiol 31 SIIdr @ dl arR GRI Y YA fdea Seif aidl 3 ¢



[Question ID = 294][Question Description = 144_S2_PHY_SEP22_Q44]
1. % x Stress x strain x volumes of the wire

1/2 x yferget X fA@pfer X dR &I 3RIAs

[Option ID = 1173]
2. Y x Stress x Strain

1/2 X yferaer x Riafer

[Option ID = 1174]
3. 1 x Stress x strain? x volumes of the wire

1/2 x yferaet x famfe2 X AR I 3iRIcdol

[Option ID = 1175]
4. ' x stress x strain?

1/2 X yferaer x e
[Option ID = 1176]

45) The terminal velocity of a metal ball of radius 2.0 mm falling through a liquid is 6.5 m s*'. Density of oil is 1.5 x 10% kg
m3 and that of the metal is 8 x 103 kg m=3. Calculate the viscosity of the oil. (g = 10 m s72)

Ro2ft ga @ aner A amufera diot ardx 2.0 mm Rz arcl ot enfeads 3l @ siffer o1 6.5 m s™' 3 At @1 aorea 1.5 x 103 Rosg. m3 3 aiiz
eI o1 #wotea 8 X 103 kg m™3 3 Al der b1 earretar w1 ufywersr Bk : (g = 10 m s2)

[Question ID = 295][Question Description = 145_5S2_PHY_SEP22_Q45]
1. 4.4x 102 kg mls1

[Option ID = 1177]
2. 4.4x10" kg m's!

[Option ID = 1178]
3. 2.2x102 kg m's!

[Option ID = 1179]
4. 2.2x 10" kg m's1

[Option ID = 1180]

46) lIsochoric thermodynamic is a process where.
IBIRIAID ICAPIID T Yo & Sal -
[Question ID = 296][Question Description = 146_S2_PHY_SEP22_Q46]

1. Temperature remain constant

At ORI Jaar 8

[Option ID = 1181]
2. Pressure remain constant

GI1d forra Jaar 2

[Option ID = 1182]
3. Volume remain constant

3IRIol e (forra) aar 3

[Option ID = 1183]
4. No heat exchange between the system and surroundings

foreprr 3z uf¥der @ sreer I T BIS fAforerr oidl Bl &
[Option ID = 1184]

47) A flask contains argon and chlorine in the ratio 2:1 by mass. The temperature of the mixture is 279 C. The ratio of
average kinetic energy per molecule Kargon / Kchlorine Will be, (Atomic mass of argon = 39.9 u Molecular mass of chlorine =
7.09 u)

Rt wer 3 amefet 3z aciifiel B geIdtIol oI Srofurd 2:1 & Rroyur oot arumw 270 C 3 gt sy sfivrd sIferst FHotf @I SIGIUTe Koo / Kacisor TRIT
glon ? (3mefor o1 uRefdTe goxmetret 39.9 u, acidior @1 snfdas geaarrer 70.9 u 3)

[Question ID = 297][Question Description = 147_S2_PHY_SEP22_Q47]
1. 2:1

[Option ID = 1185]
2. 1:2



[Option ID = 1186]
3. 39.9/70.9

[Option ID = 1187]
4. 1:1

[Option ID = 1188]

48) The ratio of molar specific heat (C,/Cy) for monoatomic gas is,
el WRAIaD 311 6 sler fafdrese Ivam (Cp/Cy) T 3ro1urd 3lar 3 :

[Question ID = 298][Question Description = 148_S2_PHY_SEP22_Q48]
1. 5/3

[Option ID = 1189]
2. 5/2

[Option ID = 1190]
3. 7/5

[Option ID = 1191]
4. 9/7

[Option ID = 1192]

49) What is the length of a simple pendulum which ticks 2 seconds? (g =10 ms™2, n2 = 10)
2 s 3 R Rep eafor 3cusol w0l AIcT ATELNRVI cllcid Bl cidrE o= 8 © (g=10 ms2, i = 10)

[Question ID = 299][Question Description = 149_S2_PHY_SEP22_Q49]
1. 4m

[Option ID = 1193]
2. 3m

[Option ID = 1194]
3. 2m

[Option ID = 1195]
4. 1m

[Option ID = 1196]

50) A steel wire 0.5 m long has a mass 5 x 1073 kg. If the wire is under a tension of 100 N, what is the speed of transverse
waves in the wire?

0.5 m cidi s¥ura & ar @1 geeEaet 5 x 103 kg 3 Al ar & asaar 100 N 3 d ar 3 sy asil bl sIfer a=ir 3 :

[Question ID = 300][Question Description = 150_S2_PHY_SEP22_Q50]
1. 10*m s

[Option ID = 1197]
2. 103ms!

[Option ID = 1198]
3. 102ms!

[Option ID = 1199]
4. 10m s’

[Option ID = 1200]

Topic:- PCB02C

1) Rate of physisorption increases with:
siiferep siferonuur bt sifer aqedl 3

[Question ID = 301][Question Description = 101_40_CHE_AUG22_Q01]
1. decrease in temperature

AT Tetor 3

[Option ID = 1201]
2. increase in temperature

AT d@lol A



[Option ID = 1202]
3. decrease in pressure

GId fcol 3

[Option ID = 1203]
4. decrease in surface area

USRI SIqwel fciol A
[Option ID = 1204]

2) Which of the following statement is TRUE?
forgotferRaa 3 A wlol AT Berel AT 37

[Question ID = 302][Question Description = 102_40_CHE_AUG22_Q02]
1. Both crystalline and amorphous solids are isotropic.

fepeetier aliz sifdpeeilr S Gloll AASOID ympfer D Bl &

[Option ID = 1205]
2. Crystalline solids are anisotropic and amorphous solids are isotropic.

fipeetin SR fAuwaciom siie sifdpzectil ST JHSD it D 8l &

[Option ID = 1206]
3. Both crystalline and amorphous solids are anisotropic.

fopeetir sl sifdpzectir S cloll fawars o ypfer @ a1 &

[Option ID = 1207]
4. Crystalline solids are always isotropic and amorphous solids are anisotropic.

fpzectiRl ORI & JWSIOD IR sifcpeciiRr SRI feISidrD yoier  ald &
[Option ID = 1208]

3) Which of the following has the highest degree of ionization?
forraiferRaa # A fpadl sRIocfias2vT siftrasaa dem ?

[Question ID = 303][Question Description = 103_40_CHE_AUG22_Q03]
1. 0.1M of urea

0. 1M e

[Option ID = 1209]
2. 0.001M of urea

0.001M g

[Option ID = 1210]
3. 1M of urea

1M g

[Option ID = 1211]
4. 0.0001M of urea

0.0001M gfser
[Option ID = 1212]

4) The van der Waals equation, constant 'a’ is introduced to compensate for;
ais? arc Ifavr Reris 'a’ ----- &l sRuril & fére gy v sirar 3 :

[Question ID = 304][Question Description = 104_40_CHE_AUG22_Q04]
1. Reduction of specific heat

faforse Swam bt waft

[Option ID = 1213]
2. Compressibility factor

JidisRIar dRd
[Option ID = 1214]
3. Inter - molecular forces

3iAR- 31D dcll



[Option ID = 1215]
4. Total volume occupied by molecules

3MUL3HT GRI 831 ORI el 3IRIAel

[Option ID = 1216]

5) On increase in temperature in an endothermic reversible reaction shifts the equilibrium
am3rel 3 gy ool A v Hoaerdl Scapgviten sifdifopan 3, Amazen Rrenfira ar s 3-
[Question ID = 305][Question Description = 105_40_CHE_AUG22_Q05]
1. towards reactant's side
3ifdpR® b BB

[Option ID = 1217]
2. towards product's side

3cuIG bl B

[Option ID = 1218]
3. towards neither sides

smufyafefa &t 8

[Option ID = 1219]
4. terminates the reaction

sifdifepen 3o St 8
[Option ID = 1220]

6) Root mean square speed (urms), average speed (uay) and the most probable speed (ump) follows the order
aol A Hel AT (Urms), TR el (Uay) 3113 31fer Fisirea 31fer (Ump) et 3 Bicll 3 :
[Question ID = 306][Question Description = 106_40_CHE_AUG22_Q06]

1. Urms <Uay <Ump

[Option ID = 1221]

2. Uay > Urms > Ump

[Option ID = 1222]

3. Uay <Urms <Ump

[Option ID = 1223]
4. Urms > Uay > Ump

[Option ID = 1224]

7) The emf of the following cell is

Ag*(aq) + e — Ag(s) E° =+0.80V
FeZ*(aq) + 2" — Fe(s) E° =-0.44V
Fe(s) + 2Ag"(aq) — Fe?(aq) + 2Ag(s)

forgotferRae sifdifepen @1 emf 3 ¢

Ag*(aq) + e — Ag(s) E° =+0.80V
Fe?*(aq) + 2" — Fe(s) E° =-0.44V
Fe(s) + 2Ag*"(aq) — FeZ*(aq) + 2Ag(s)

[Question ID = 307][Question Description = 107_40_CHE_AUG22_Q07]
1. 1.16 V

[Option ID = 1225]
2. 1.24V

[Option ID = 1226]
3. 2.04V

[Option ID = 1227]
4. -1.16 V

[Option ID = 1228]

8) Which of the following statements about catalysts is false?



IRl @ aR i foarferRaa 3 A ®lol AT DT 3RIT 37

[Question ID = 308][Question Description = 108_40_CHE_AUG22_Q08]
1. Catalysts reduce the activation energy of the reaction.

IYRD 3ifdifcpR @ AfRRIvT ol DI DA DA &

[Option ID = 1229]
2. Biological catalysts are called enzymes.

Sifdred 3D BSlIsH DIl 3

[Option ID = 1230]
3. Catalysts do not alter the mechanism of the reaction.

3R siffifdpan bt fpenfafér o) uf¥afehd o wa &

[Option ID = 1231]
4. Even a small amount of catalyst can accelerate a reaction.

3R i eirst 2 aner oft sifdifepen @ o6t B2 A

[Option ID = 1232]

9) For the following first-order reaction, C;HsCl (g) — CzH4(g) + HCI (g), the initial concentration of C;HsCl was 2.4 x 1072
mol L'! at 300 K. The concentration of C;HsCl after 30 mins was 0.12 x 10-2mol L™'. Find the rate constant of the reaction at

300 K.
forgotferRaa yerar mife &t sifdifcpen @ ferg
C2HsCl (g) — CoHa (g) + HCI ()

C2HsCl &1 ypiftras Aigar 300 K ara ur 2.4 x 102 mol L™ aiiz 30 fireie @ arc igar 0.12 x 102 mol L' ot 300 K ara uz siféiRpzn w1
o1 RBerio sma GifSie

[Question ID = 309][Question Description = 109_40_CHE_AUG22_Q09]
1. 0.023 min!

[Option ID = 1233]
2. 0.23 min’’

[Option ID = 1234]
3. 0.023 mol L'"'min"!

[Option ID = 1235]
4. 0.23 mol L"'min"!

[Option ID = 1236]

10) Select the correct relationship between the Half-life of the first-order reaction and temperature.
et pife &t siftifepzn o1 3ref-31Ry 3R ara & dfa 3 Jgdce & fere 3wt fasey g ¢

[Question ID = 310][Question Description = 110_40_CHE_AUG22_Q10]
1. Inty2 0T

[Option ID = 1237]
2. Inty2 a1/T

[Option ID = 1238]
3. Inty o T2

[Option ID = 1239]
4. Inty a1/T2

[Option ID = 1240]

11) Which of the following statement is not correct for amorphous solids
sifépzeciil ST & an 3 foraiferRaa 3 A et AT et At ol 3 :

[Question ID = 311][Question Description = 111_40_CHE_AUG22_Q11]
1. They have sharp melting point

SoIebl JIcTolich forfe 3lar 3

[Option ID = 1241]
2. They are isotropic in nature

3 R Yt B A &



[Option ID = 1242]

. They are super cooled liquids

2 sifer-ofiferT ga &

[Option ID = 1243]
. They are short-range order in the arrangement of its constituent particles

SAD aRIdl Dull Hl wRrazen 3 crg-Jult D Gt &
[Option ID = 1244]

12) The coagulation of a positive sol, the flocculating power follows the order

1ol et @ Fcol 3 Hulol graaar, oA i aIdl 3 :

[Question ID = 312][Question Description = 112_40_CHE_AUG22_Q12]

1.

PO,* = S0,* >Cl” > [Fe(CN)]*
[Option ID = 1245]
- [Fe(CN)]* = PO.* > SO, > cI”

[Option ID = 1246]
PO,* < SO,* < I < [Fe(CN) 1+

[Option ID = 1247]

4. [Fe(CN)]* < PO, <S50, <l

1.

[Option ID = 1248]

13) The conjugate acid for NHs is:
NH3 @1 igedtt 3@t 3-

[Question ID = 313][Question Description = 113_40_CHE_AUG22_Q13]
NHz'

[Option ID = 1249]

2. NH3*

[Option ID = 1250]

3. NH4*

[Option ID = 1251]

4. NHZ

[Option ID = 1252]

14) In the free expansion of an ideal gas, the work done is zero, because:
uep 3Gl 1A B b YAR I v srRn orRi 9l alar 8, aiifee-
[Question ID = 314][Question Description = 114_40_CHE_AUG22_Q14]

1. It is frictionless

s eror 23 3
[Option ID = 1253]

2. Anideal vacuum cannot be created

oD gl forafd 18l detrRI S AFaar

[Option ID = 1254]

3. intermolecular forces of attaraction is present

SicrR3Nfvads MDHUr gel Bl &
[Option ID = 1255]

4. External pressure on the system is zero

forPrI W 9183t GId 9[o¥ Bldr 3
[Option ID = 1256]



15) The reaction with AH as +ve. would be spontanecus at
Hffera foweT AH SFTES &, T90: vafad et -
[Question ID = 315][Question Description = 115_40_CHE_AUG22_Q15]
1. AS = +ve, low temperature
AS = +ve, foror au @

[Option ID = 1257]
2. AS = +ve, high temperature

AS = +ve, 3cd au @

[Option ID = 1258]
3. AS = -ve at all temperature

AS = -ve, Jsft au w

[Option ID = 1259]
4. AS= -ve at low temperature

AS = -ve, folFel au w2

[Option ID = 1260]

16) Given van der Waals constant ‘a’ for gases A, B, C and D are 4, 3, 2, 1 respectively, which one of the following gase is
most easily liquefied?

&= oI difel 33 arc RFerics ' a ' SiAT A, B, C 3iiz D @ fare aparen: 4, 3, 2 3iik 1 8; fowafafRaa i A et 21 311 Je) smRImell A gfaa aef?

[Question ID = 316][Question Description = 116_40_CHE_AUG22_Q16]
1. GasD

staD

[Option ID = 1261]
2. Gas C

a1 C

[Option ID = 1262]
3. GasB

3B

[Option ID = 1263]
4. Gas A

SAA
[Option ID = 1264]

17) Which of the following serves as a adsorption indicators for fluorescein dyes?
forsaiferRaa 3 A Blel AT TRHRATST oI D fere sif2ronyur e bl s B B 3 ?

[Question ID = 317][Question Description = 117_40_CHE_AUG22_Q17]
1. Charcoal

ARDICT

[Option ID = 1265]
2. Silver nitrate

Ricaz oiisge

[Option ID = 1266]
3. Magnesium hydroxide

FoOIIRIT BIESIRIES

[Option ID = 1267]
4. Silver halides

Ricaz Scss
[Option ID = 1268]

18) Which of the following is correct regarding the energy of 2s orbitals?

forgotfeiRaa & A 2S snfdecr &bt eif @ FFacer 3 Dot a1 I8 8 ?



[Question ID = 318][Question Description = 118_40_CHE_AUG22_Q18]
1. EEE{H) = EZB(KJ = EZB{NE‘] = E:i"_s(]"i)
[Option ID = 1269]
Z. EEE{H) = EZB(Li) = EEE(Na) = EEB(K)
[Option ID = 1270]
3 E’ZE(L‘i) = EZB{NE‘) = Eﬂs(Kj =+ EZE{H)
[Option ID = 1271]
4 EEE{}() - EEB(NE‘) = EEB(L‘ij 24 EZE{H)

[Option ID = 1272]

19) Correct order for size of the given species is
&l orf Suferil @ PR I JAE DA 3-

[Question ID = 319][Question Description = 119_40_CHE_AUG22_Q19]

1. Na > Na > Na*

[Option ID = 1273]
2. Na*> Na > Na’

[Option ID = 1274]
3. Na> Na™ > Na*

[Option ID = 1275]
4. Na> Na* > Na~

[Option ID = 1276]

20) The element 'Re’ belongs to which group and period respectively?
dca 'Re’ qpaaor: 51 A31g 3iiR smad A ddfera 37

[Question ID = 320][Question Description = 120_40_CHE_AUG22_Q20]
1. 7and 6

73R 6

[Option ID = 1277]
2. 7and 7

73R7

[Option ID = 1278]
3. 6and7

6 3z 7

[Option ID = 1279]
4. 6and 6

6 32 6
[Option ID = 1280]

21) In the given reaction, the oxidation state of Cl in the major product will be
Cl,07 + H0 —

&t or¢ aiftifepRn 31, ggrza Ieurs 3 Cl &t smaeflaevr sraven apt :

Cl207 + H20 —

[Question ID = 321][Question Description = 121_40_CHE_AUG22_Q21]
1. +1

[Option ID = 1281]
2. +2

[Option ID = 1282]
3. +3

[Option ID = 1283]
4. +5



[Option ID = 1284]

22) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: BeH; molecule has a non-zero dipole moment.
Reason R: BeH; has linear structure.
In light of the above statements, choose the most appropriate answer from the options given below
il €1 ool fu e 31 uep @ sifdrperet (A) 3iiz g2 @1 a (R) @ar srm 3
sifdreret (A) : BeH; srvy w1 fsega smeguf ofs=r o1dl akar &
a® (R) : BeH; &1 3a=r ivaen it 3
SRfT Dl @ sirclie 3 foratifepa faaeul 3 21 8 3= ol :
[Question ID = 322][Question Description = 122_40_CHE_AUG22_Q22]
1. Both A and R are correct and R is the correct explanation of A
(A) 3z (R) Soil 21t @ aliz (R), (A) Bl At cermoenr @

[Option ID = 1285]
2. Both A and R are correct but R is NOT the correct explanation of A

(A) aiiz (R) cleil 31d 8 ueg (R), (A) Pi &t caren ol &

[Option ID = 1286]
3. Ais correct but R is not correct

(A) 38t 8 wog (R) &l o18l &

[Option ID = 1287]
4. Ais not correct but R is correct

(A) =t ot & weog (R) =t &
[Option ID = 1288]

23) Which one of the followings is the isostructural?
forgsifer3ae 31 3 Dlol-AT AT oIl DI oA 37
[Question ID = 323][Question Description = 123_40_CHE_AUG22_Q23]
1. NF3 and BF3
NF3 iz BF3

[Option ID = 1289]
2. BClz and BrCl3

BCl3 sz BrCl3

[Option ID = 1290]
3. NH3 and NO3

NH3 sfiz NO3~

[Option ID = 1291]
4. BF4’and NH4*

BF4 afiz NH4*
[Option ID = 1292]



24) Considering the given species and hybridization:

A NO; —sp®
B.NH,* —sp?
C NO,* —sp

Select the comrect option(s)

T L ST T I % o
A NO7 —sp?
B NH,~ —sp®

C. NO;* —sp
EEAREET AR U
[Question ID = 324][Question Description = 124_40_CHE_AUG22_Q24]
1. Aand B only
dact A siiz B

[Option ID = 1293]
2. BandConly

Dact B aiiz C

[Option ID = 1294]
3. Aand Conly

dact A 3iiz C

[Option ID = 1295]
4. Aonly

Dact A

[Option ID = 1296]

25) Statement |: Water molecule has bent structure.
Statement II: The hybridisation of H,0 molecule is spZ and O atom having two lone pairs.
Select the correct answer from the options given below:
ofidl &t perer Ru sme 3 :
Dol - | : urefl @ 3ruy bt Fzaron I ¢ Bl 3
@eret - |1 : H0 31vy a1 saeur sp? 3 siie O uzanyy 3 1 uorh i3 3
SRft Bl @ sl 3 forerfeiRaa freeul 3 A & 3= gl ¢
[Question ID = 325][Question Description = 125_40_CHE_AUG22_Q25]
1. Both Statement | and Statement Il are true
et | 3l et || ol 1w &

[Option ID = 1297]
2. Both Statement | and Statement Il are false

Dol | 3R derat | Sloll 3RIcT 3

[Option ID = 1298]
3. Statement | is correct but Statement Il is false

Dol | e 2 cfdpor dwerat | srRier 2

[Option ID = 1299]
4. Statement | is incorrect but Statement Il is true

Dol | 3rRIcT 8 cifdbor @werer || 21

[Option ID = 1300]

26) Which of the following is most electron rich hydrides?



forgoiferRaa 3 3 Dol AT AR UfAUD FcIagIel WS BEIES & 7

[Question ID = 326][Question Description = 126_40_CHE_AUG22_Q26]
1. NH3

[Option ID = 1301]
2. HF

[Option ID = 1302]
3. CHg

[Option ID = 1303]
4. H,0

[Option ID = 1304]

27) Match List | with List Il

List | List Il

A. HO |l. 107.8°
B. NH3 [Il. 93.6°
C. CHs [lll. 104~
D. PH; |IV. 109.5°
Choose the correct answer from the options given below:

gt | oot gt 1 21 gaafera @3-

et -1 Al
A. H,0 l. 107.8°
B. NH3 . 93.6°
C. CHy4 1. 104°
D. PH; IV. 109.5°

sifa fou s1u faeul 3 A w& IR DI golld B3-

[Question ID = 327][Question Description = 127_40_CHE_AUG22_Q27]
1. A-llLB-1,C-IV,D-1l

[Option ID = 1305]
2. A-lILB-1,C-1I,D-IV

[Option ID = 1306]
3. A-1ILB-1,C-1V,D-1I

[Option ID = 1307]
4. A-11,B-1,C-IV,D- Il

[Option ID = 1308]

28) The basic structural unit of silicates is:
Riferdde & a1 Fzaeicad o 3-

[Question ID = 328][Question Description = 128_40_CHE_AUG22_Q28]
1. SiO

[Option ID = 1309]
2. SO3%

[Option ID = 1310]
3. Si0g

[Option ID = 1311]
4. SiOq*

[Option ID = 1312]

29) Mohr’s salt is:
g2 cIavr aiar 3-

[Question ID = 329][Question Description = 129_40_CHE_AUG22_Q29]
1. FeS04.(NH4)2504.6H,0



[Option ID = 1313]
2. FeS04.(NH4)4504.8H20

[Option ID = 1314]
3. FeS04.(NH4)3504.6H,0

[Option ID = 1315]
4. FeS04.(NH4)4(S04)2.6H20

[Option ID = 1316]

30) Which of the following has lowest enthalpy of atomization?
forraiferRaa 3 A fp2rdt uRsue2vT bt vodictl Ia) @ 37

[Question ID = 330][Question Description = 130_40_CHE_AUG22_Q30]
1. Zn

[Option ID = 1317]
2. Cu

[Option ID = 1318]
3. Sc

[Option ID = 1319]
4. Ni

[Option ID = 1320]

31) Which of the following statement is incorrect for actinoids?
forgaifeiRaa 3 1 dlat 21 Derel ufdresiiss] @ fere srera 87

[Question ID = 331][Question Description = 131_40_CHE_AUG22_Q31]
1. They are radioactive elements.

3 ARMepll aca 2 &

[Option ID = 1321]
2. Actinoid contraction is greater than lanthanoid contraction.

clolrss arazdet bl getoll 3 efdesiiss srddor siférd diar &

[Option ID = 1322]
3. Actinoid metals are all silvery in appearance.

uftfeoiiss enqRl el 3t aidt &t avs ardt 8
[Option ID = 1323]
4. Electrons are filled in 5f, 6d and 6s subshells in actinoids.

ufdesifss 3 scracior 5f, 6d 3fiz 65 Sudell 3 a3 ST &

[Option ID = 1324]

32) Which of the following gas is used in arc welding of metals or alloys?
forgatferiRaa 3 1 Dlol-2H1 Icapte 31 DI IURIIPT T3l 3rrar IULIT3il @ 3 afesor I glear 8 ?
[Question ID = 332][Question Description = 132_40_CHE_AUG22_Q32]

1. Helium

Sifermr

[Option ID = 1325]
2. Neon

foraifor

[Option ID = 1326]
3. Argon

3ifefor

[Option ID = 1327]
4. Xenon

Siloifor

[Option ID = 1328]



33) How many isotopes of oxygen atom exist?
sifa=fisior uRavy @ fopaer FeRenfors 37

[Question ID = 333][Question Description = 133_40_CHE_AUG22_Q33]
1. 4

[Option ID = 1329]
2.3

[Option ID = 1330]
3.2

[Option ID = 1331]
4.1

[Option ID = 1332]

34) Which of the following statement is correct related to CaSiO3 obtained in the extraction of iron?
oIz @ forsasdiur a5 Sierot gra CaSiO3 @ Jdder  forgatfeilRaa 3t A Bt AT werer A8 37

[Question ID = 334][Question Description = 134_40_CHE_AUG22_Q34]
1. CaSiOs3 has lower melting points and is lighter than molten iron

CaSi03 @1 gaolicd @ Il 3 3R UG gdlid 3Rl 3 Ecehl Bl &

[Option ID = 1333]
2. CaSiO3 has lower melting point and is heavier than molten iron

CaSi03 @1 gaolicd @ Il 3 3i2 AB gdld 3R 3 913t 2l 2

[Option ID = 1334]
3. CaSiOs3 has higher melting point and is heavier than the molten iron

CaSi03 @I gaelids RIeT 8kl 8 3 a8 gl siRRer A 113t Al 3

[Option ID = 1335]
4. CaSiO3 has higher melting point and is lighter than the molten iron

CaSiO3 @ gaelics SeIIGT Bl & 3l A8 gl 3IRReT A bt BXdt 3
[Option ID = 1336]

35) Which of the following has minimum percentage of chlorine?
forrarferRaa 3 A1 fp2rdt aclidiar o1 yferora ojoraat 37

[Question ID = 335][Question Description = 135_40_CHE_AUG22_Q35]
1. Chlorobenzene

aciRIdstor

[Option ID = 1337]
2. Chloral

aetiet

[Option ID = 1338]
3. Ethyl chloride

DT aciiIss

[Option ID = 1339]
4. Hexachlorocyclohexane

SRIMACRRISAISII6T
[Option ID = 1340]

36) Among the following geometrical isomerism is exhibited by:
forgaifeiRaa 3t A senfdrdi=r JAsraRIaar foad gr1 ygfdfa ot sl 3?7

[Question ID = 336][Question Description = 136_40_CHE_AUG22_Q36]
CH5

cl



[Option ID = 1341]
CHCI

HsC CHs

[Option ID = 1342]
CHCI

[Option ID = 1343]
CHa-

[Option ID = 1344]

37) Which of the following is correct IUPAC name of the given compound?

ProfefEg & 4 ki w4 9fs sradhvrac @ B2

HiC H
— H
H>_/\<
oy

[Question ID = 337][Question Description = 137_40_CHE_AUG22_Q37]
1. 3-Bromo-3-methyl-1,2-dimethylprop-1-ene

3-quat-3-ARecr- 1, 2-SrsfRergiu-1-&o

[Option ID = 1345]
2. 4-Bromo-3-pent-2-ene

4-quainic-2-Sor

[Option ID = 1346]
3. 2-Bromo-3-methylpent-3-ene

2-qieit- 3-Afereriic- 3-gor

[Option ID = 1347]
4. 3-Bromo-1,2-dimethylbut-1-ene

3-qat-1, 2-STsARIcTsee- 1 -Sor
[Option ID = 1348]

38) Which of the following reaction is correct?
forgotferRaa 3f 3 wlet 2t srfdrfopam 1t 37
[Question ID = 338][Question Description = 138_40_CHE_AUG22_Q38]

H H CClg H Br
.oy=C * B, ——= )y
H H Br H
[Option ID = 1349]
H H CCly
2. >:< ' By HC=CH
H H
[Option ID = 1350]
H H heat H Br
3. >:< = Bra e HHBT
H H H H

[Option ID = 1351]



4. |-|>:< * Br, —— noreaction

[Option ID = 1352]

39) DDT (dichloro-diphenyl-trichloroethane: C14H9Cls) is a
DDT (sacRI-sEwiord-grsadrRiudel C14HoCls) arar 3-

[Question ID = 339][Question Description = 139_40_CHE_AUG22_Q39]
1. Insecticide

blcaroft

[Option ID = 1353]
2. Herbicide

orepotroft

[Option ID = 1354]
3. Pesticide

disaonoft

[Option ID = 1355]
4. Germicide

Jemuoiroft
[Option ID = 1356]

40) H»O Isomerization
HC=CH

Hg?*/H*1333K

In the above reaction, A and B are

H,O Isomerization

HC=CH
Hg?*/H*1333K

IEd T A A 3R B e £

[Question ID = 340][Question Description = 140_40_CHE_AUG22_Q40]
1. Geometrical isomers
Genfareier Jrermaerdt

[Option ID = 1357]
2. Functional group isomers
fpRITeoa M3 AHTRI

[Option ID = 1358]
3. Metamers
FIERICRIAT

[Option ID = 1359]
4. Stereoisomers
ferferer JrotraRIdt

[Option ID = 1360]
41) Which of the following statment incorrect about alkynes ?

forgoifeiRaa 3 A dlel AT Berol UcbIsall @ ferg sreta & ?
[Question ID = 341][Question Description = 141_40_CHE_AUG22_Q41]
1. First three members are gases
Yt ol 63 31 3
[Option ID = 1361]
2. All alkynes are odourless
JAAIA UeDISal SlerBlol Bl 3

[Option ID = 1362]



3. All alkynes are colorless

A BedIsol IeIdtel Bl &

[Option ID = 1363]
4. They are lighter than water and immiscible with water

UCMISal SfcT A g ael Sicl 3 snfrgufier a1d &

[Option ID = 1364]

42) Forthe Tollowing reaction:

&t g arfufrar & -

Conc. H:S0
S R, B

'x%:

[Question ID = 342][Question Description = 142_40_CHE_AUG22_Q42]
1. (CHs3)2C = CHCH3

[Option ID = 1365]
2. CHsC = CH

[Option ID = 1366]
3. (CH3);CHCH,CH;3

[Option ID = 1367]

4./\{

[Option ID = 1368]
43) On reaction of ethene with Baeyer’s reagent, the product is

R 3ifrpdics D AT vellor i sifdifdpn Brel UR Icurc dolar 3-

[Question ID = 343][Question Description = 143_40_CHE_AUG22_Q43]
1. Ethane

REs

[Option ID = 1369]
2. Ethanol

wdoifel

[Option ID = 1370]
3. Diethyl ether

STsufdrer e

[Option ID = 1371]
4. Ethylene glycol

sercflol scTSapIeT
[Option ID = 1372]

44) CLCHCOOH  CICH,COOH  CICH;CH;COOH CgHsCHo,COOH
A B C D
The increasing order of pKa values of the compound (A to D) follows the order
CI,CHCOOH  CICH,COOH  CICH;CH;COOH CgHsCH2COOH
A B C D

Tt (A T D) F pKa AFI T 52al HH, - H3al &

[Question ID = 344][Question Description = 144_40_CHE_AUG22_Q44]
1. D<C<B<A

[Option ID = 1373]



2. B<C<D<A

[Option ID = 1374]
3. C<B<D<A

[Option ID = 1375]
4. A<B<C<D

[Option ID = 1376]
45) Which of the following diazonium salt is most stable?

forgoiferiRad 3 A Blol AT SIEUSGIRIA cIduT A SAIGT TS 3?7

[Question ID = 345][Question Description = 145_40_CHE_AUG22_Q45]
1. p-nitrobenzene-diazonium chloride

p-olsidstlor- SSUSleiRET TelREs

[Option ID = 1377]
2. 2,4-dinitrobenzene-diazonium chloride

2,4-ST5olsq)dotior- SEYGHoReT TeilRIss

[Option ID = 1378]
3. 2,4,6-trinitrobenzene-diazonium chloride

2,4, 6-crsonsAldoflor- SSsiolRe dcllss

[Option ID = 1379]
4. p-methoxybenzene-diazonium chloride

p-dtelfaiidsior- sl dcikiss
[Option ID = 1380]

46) NH; (CH3)3N CH3NH, (CH3)sNH
A B C D

The decreasing order of acidity of the amines (A to D) in agueous solution
is
NH5 (CHs)sN CH3;NH,» (CH3)}NH
A B C D
Fog e H THR (A ¥ D) S SiEaT B UeAT HH &
[Question ID = 346][Question Description = 146_40_CHE_AUG22_Q46]

1. A>B>C>D

[Option ID = 1381]
2. B>D>C>A

[Option ID = 1382]
3. A>C>D>B

[Option ID = 1383]
4, D>C>B>A

[Option ID = 1384]

47) Select the correct statement for cellulose?
AcIcllA D aR A Al DAl DI Yol :

[Question ID = 347][Question Description = 147_40_CHE_AUG22_Q47]
1. Cellulose does not found in plants.

AgetA ulell 37 o18l R Sirer &

[Option ID = 1385]

2. Cellulose is a straight chain polysaccharide composed only of a -D-glucose units which are joined by glycosidic linkage between C1 of one glucose
unit and C4 of the next glucose unit

el e el gae uifeRidarss & Sl dact A -D-acidIRt srsal 3 Joll Bl & Sl U aeidIA 518 @ C1 3IR 3plell aefplRt s @ C4 D dia sensoRisst 4 A gfsd 8
[Option ID = 1386]



3. Cellulose is a branched chain polysaccharide composed only of a -D-glucose units which are joined by glycosidic linkage between C1 of one glucose
unit and C3 of the next glucose unit

Ageirt v onf¥ad gfact difeRidrss & Sit dact a -D- st sorseil A Folt ST 3 Sit v efdRt 301 @ C1 3l sperefl syt s @ C3 & dffa sersarRirsst de A Jsd &

[Option ID = 1387]
4. Cellulose is the most abundant organic substance in plant kingdom.

el UIGU SPIA 31 AT Y2 ] 31 URI Sllol alell PIeford ucref &

[Option ID = 1388]

48) Select the correct statement
I DU Jol :

[Question ID = 348][Question Description = 148_40_CHE_AUG22_Q48]
1. The warm soil emits UV radiations only.

ot 31l daer UV fafdpaur @1 3carsior ot 8

[Option ID = 1389]
2. Heat cannot be trapped by O3 and CFCs

P 03 3iik CFCs 31 yoydla oidt &t s Jepedt &

[Option ID = 1390]
3. Plants do emit infrared radiations

i) 3raep fafdpur 3Afslia v 3

[Option ID = 1391]
4. Methane is not a green house gas

1Yot Bf3rs At ordl 3
[Option ID = 1392]

49) Brompheniramine is commonly used as
FIIBIoRIFIGT AHIGITRIT IURIIeT b} Siredt 3 :

[Question ID = 349][Question Description = 149_40_CHE_AUG22_Q49]
1. Antipyretic drug

S0l GdI

[Option ID = 1393]
2. Antihistamine drug

yierfgaefiror gar

[Option ID = 1394]
3. Antacid drug

yfer-3m#et Gar

[Option ID = 1395]
4. Antimicrobials drug

Smupiet Gar
[Option ID = 1396]

50) Accumulation of chlorofluorocarbons in the atmosphere results in the depletion of:
ARPIST A TARTARIDIH B AFTRT B URUIERaT SRI 3Idr 3
[Question ID = 350][Question Description = 150_40_CHE_AUG22_Q50]
1. Stratosphere
AN FHSeT DI
[Option ID = 1397]
2. Troposphere
19T ISl BT

[Option ID = 1398]
3. Ozone Layer

3iGilol U I



[Option ID = 1399]
4. Lithosphere

FUCTHSTT BT

[Option ID = 1400]

Topic:- PCB02B

1) Which of the following is NOT an extinct subspecies of tiger?
forrarferRaa 3 A Plet A1 arEl & v fage 3u-yenfer ol 37

[Question ID = 351][Question Description = 101_39_BIO_AUG22_Q01]
1. balica

i3

[Option ID = 1401]
2. altacia

SrereTi¥rer

[Option ID = 1402]
3. sondacia

SRR
[Option ID = 1403]
4. virgata

qaIfel
[Option ID = 1404]

2) A sewage treatment process in which a portion of the decomposer bacteria present in the waste is called

u Hidet oiterot gftpen R o 3 Hisg Siodisr IR o1 v 33 war sirar 3

[Question ID = 352][Question Description = 102_39_BIO_AUG22_Q02]
1. Primary treatment

JreIfdrep 3udrR

[Option ID = 1405]
2. Cyclic treatment

TDRT JUAR

[Option ID = 1406]
3. Activated sluge treatment

JAfeRr Jctat edic

[Option ID = 1407]
4. Tertiary treatment

el 3uar
[Option ID = 1408]

3) Rearrange the following in correct sequence to accomplish a successful polymerase chain reaction
A. Denaturation of ds-DNA to genomic DNA tempelate

B. Thermostable DNA-polymerase to enzyme DNA-polymerase

C. In vitro synthesis of region of DNA of interest

D. Synthesis of oligonucleotides by primers

E. Nucleotides complimentary region of DNA

Choose the correct answer from the options given below

o FAecayul Sia GlenfSrh! yferfapm I gt wel @ fére adare siopapdl 3 foefeiRaa o fib2 1 onfdrer @3
A. 3ie-Siuoie @1 Silollfdie Steste ¢ucie 3 faameiiaur



B. epifstact Stucre-ulellonst A Gesd S1uere-ulciarst

C. sfa @& Siueru uPET & UK ASyvr 3

D. yrsaz AARIfID U A DA siiferloafdrcricssa 3
E. sgfarcrilersst S19oie oI geab gi

il 3w a1 faseul 3 A 78 3a= gfore

[Question ID = 353][Question Description = 103_39_BIO_AUG22_Q03]
1. A,B,C, D, E

[Option ID = 1409]
2. AD,B,EC

[Option ID = 1410]
3. ALC,D,B, E

[Option ID = 1411]
4. A,D,C, B, E

[Option ID = 1412]

4) Arrange these in successive levels of biological organisation from microlevel to global scale
A. Biosphere

B. Communities

C. Atoms

D. Organs

E. Cells

Choose the correct answer from the options given below

JgH A IPads IR ad Sifee AHdTel D ol IaRI Bl RAaze B3
A. SRIbBRR

E. oifdrmr
il fou s1u fepeul 3 A 8 3= gfore

[Question ID = 354][Question Description = 104_39_BIO_AUG22_Q04]
1. C,E,D, B, A

[Option ID = 1413]
2. C,AE D,B

[Option ID = 1414]
3. A,B,D,C,E

[Option ID = 1415]
4. A, B, C,ED

[Option ID = 1416]

5) Match List | with List Il

List | List Il

Scientific name Common name
A. Echinus I. Sea Urchin

B. Aplysia Il. Sea lily

C. Antidon 1ll. Sea hare

D. Ademsia IV. Sea anemone

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre



et - | et -1l
ArsTfor STt BIgTol oI

A .sfroret I. A3} sifkfet
B.arcchifRren I, 25 Rrcht
C.gfesler Ill. 31 @S Fstor
D .esalrn IV. a1} ufordlor

il fou o1e frseul 3 3 A IR gfom ©

[Question ID = 355][Question Description = 105_39_BIO_AUG22_Q05]
1. A-1,B-lI,C-1lI,D-IV

[Option ID = 1417]
2. A-1,B-1l,C-11,D-1IV

[Option ID = 1418]
3.A-1l,B-1,C-1l,D-IV

[Option ID = 1419]
4. A-1,B-1,C-IV,D-1l

[Option ID = 1420]
6) Adenosine deaminase deficiency can be cured by:

w3ailf¥er Siefdorst & @aft @1 Sias favan s A ar 3

[Question ID = 356][Question Description = 106_39_BIO_AUG22_Q06]
1. RNA interference technology

3IRUGIE IS Ylerbl

[Option ID = 1421]
2. Gene therapy

Sifer r3dt

[Option ID = 1422]
3. ELISA

efern

[Option ID = 1423]
4. micro RNA

3G IToIY

[Option ID = 1424]

7) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : In higher category, there is great difficulty of determining the relationship to other taxa of the same level.
Reason R : In higher taxa there are less characterstics than the members within the taxa share.

In light of the above statements, choose the correct answer from the options given below

ofld 3l erel fRu s 3w B siftrperet (A) 3R gIR @I ad (R) @ar SR 3
sifdrperot (A) : Ica gufl 3, AT IAR D 3ica SaAT D AT Ade foreriiya war 3 9t ofdens aict &
a® (R) : 3Ica o= 3, oa Ridgard sicl 3 b A5 eant @ 331 & e a1 3
IRt el @ 31l 3 foratifesa fasedl 3 A 8 = ol :
[Question ID = 357][Question Description = 107_39_BIO_AUG22_Q07]
1. Both A and R are true
(A) 3z (R) clell 3t &

[Option ID = 1425]
2. Both A and R are false

(A) 3iiz (R) cloil 3R &

[Option ID = 1426]
3. Ais true but R is false



(A) 31 8 uvsg (R) srica 3

[Option ID = 1427]
4. Ais false but R is true

(A) sricr 2 wog (R) A 8
[Option ID = 1428]

8) Given below are two statements
Statement I: During anaphylactic shock, inflammatry chemicals released from immune cells trigger constriction of
bronchioles and sudden dialation of periferal blood vessels leading to precepitous drop in blood pressure.

Statement II: People with severe hypersentivities often carry an auto injector containing the hormone epinephrine since it
can counter act the allergic response.

In light of the above statements, choose the most appropriate answer from the options given below

il Gl ool féu are 3 :

Do - | : velflbclfied 9iics @ GRIel, Yferen BIfI®mI3il 2 fordetol dict Jsid  RARI6I Yfod3iIcA D Dol AR ufeelRl b arfdmisii &
IAIGI® SRICIOTS DI f¢oR D 3, PSRRI Iamu 3 dsil A Brac il 3

Do - || : shiR sifeRidcoroficrar arct eI AR U 3ifel $oIac? o S & e srilel eftelflpe ldr 3 aeifcp s ot &l yfefipan @1 gfdar
@I ADAl &
IR PGl D 3HIclIp i forvorfeiRaa faaeul 3 A 8T 3= ol :
[Question ID = 358][Question Description = 108_39_BIO_AUG22_Q08]
1. Both Statement | and Statement Il are correct
el | 3l || ol At &

[Option ID = 1429]
2. Both Statement | and Statement Il are incorrect

@erol | 32 | Slail aretd &

[Option ID = 1430]
3. Statement | is correct but Statement Il is incorrect

el | 3ét 8, fbog wert |l s 8

[Option ID = 1431]
4. Statement | is incorrect but Statement Il is correct

@l | s1ctd &, fibog el |l &t 8
[Option ID = 1432]

9) Given below are two statements
Statement I: Living organisms are considered as a closed system
Statement II: Energy of living organisms cannot be lost or gained from the external environment

In light of the above statements, choose the most appropriate answer from the options given below

ofil &t perer Ru ame 3 :
Dol - | : Shifea Sfidl @l v s yuredl @& u # Aol Sar 3
ool - | : Shifaa shtal &bt Soif @l arsst ardarazor A R a1 gy o&l fsar s Jwdar 3
SWRfTP Bl d sl 3 forerfeiRaa freeul 3 A & 3= gt ¢
[Question ID = 359][Question Description = 109_39_BIO_AUG22_Q09]
1. Both Statement | and Statement Il are correct
et | stz || Slelf a8t &

[Option ID = 1433]
2. Both Statement | and Statement Il are incorrect

@l | 3R || Slall sreta &

[Option ID = 1434]
3. Statement | is correct but Statement Il is incorrect



et | 218 8, fpog et |l stera &

[Option ID = 1435]
4. Statement | is incorrect but Statement Il is correct

el | st 8, fibog el Il &t 8
[Option ID = 1436]

10) First vertibrates orginated during the period
33 3raf?l & SRrel Usen daféde -

[Question ID = 360][Question Description = 110_39_BIO_AUG22_Q10]
1. Devonian

Saiforrot

[Option ID = 1437]
2. Carboniferous

Drdoflbaa

[Option ID = 1438]
3. Silurian

Riref¥=rot

[Option ID = 1439]
4. Ordovician

sifstfafdrIer
[Option ID = 1440]

11) Match List | with List Il

List | List Il

A. Inbreeding I. Reduce fertility and productivity

B. Close inbreeding Il. Create a new trait not found in parental type

C. Cross inbreeding lll. Eliminate harmful recessive genes

D. Mutation inbreedinglV. Combine the desirable qualities of two diffrent breeds|

Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgaifera Hifste ¢

Rxeht -1 il

A. 3ic:ysTolol |. Ysiolel $EIeI 3R IcUIGH Al DI DA Dol
B. Jigd 3id:ysiolol 1. arar-foren 3 sropucreer 518 3YUT I Solloll
C. g®I 3id:ysiolol lll. arforpRe Yorradl siter @ ser &

D. Scuf¥ador siq:ysieiol IV. <1 firoo1 oreeil @ aigofia apull @t frams

offc feu aru frpedl 3 3 18l 3R gfore :

[Question ID = 361][Question Description = 111_39_BIO_AUG22_Q11]
1. A-lI,B-1I,C-1,D-1IV

[Option ID = 1441]
2. A-11,B-1,C-1,D-IV

[Option ID = 1442]
3. A-N,B-11,C-IV,D-I

[Option ID = 1443]
4. A-11,B-1,C-IvV,D-1l

[Option ID = 1444]

12) Which one is NOT diploblastic?
forgot 3t A Rreleaefes ot 3
[Question ID = 362][Question Description = 112_39_BIO_AUG22_Q12]
1. Sponge
ST

[Option ID = 1445]



2. Cnidaria
forstfe=n

[Option ID = 1446]
3. Nematoda

SRIICIST

[Option ID = 1447]
4. Ctenophora

Roltwrr
[Option ID = 1448]

13) Which one of the following is pure breeding for only one character?
forgatferi¥aa 3 A Plel AT Dact T VT D feTu 9L Yslolol 3?7

[Question ID = 363][Question Description = 113_39_BIO_AUG22_Q13]
1. HhRr

[Option ID = 1449]
2. HHRr

[Option ID = 1450]
3. HHRR

[Option ID = 1451]
4. hhrr

[Option ID = 1452]

14) Match List | with List Il

List | List Il

IMan Cranial Capccity|
IA. Homo erectus  ||. 1200-2000 cc
B. Neanderthal Man|ll. 800-1000 cc
C. Cromagnun Man |lll. 350- 450 cc
D. Australopithecus|lV. 1600 cc
Choose the correct answer from the options given below:

gt -l oot 3 -1l A Fgafera HifSie :

Rpet -1 ret -l

FHToTa [DUTCT SIdTcTT

A. BIdl s3aeA 1. 1200-2000cc
B. fordszeret e 1. 800-1000cc
C. DIEIeIol Aleld 11l. 350-450cc
D. siegeniftreraa 1V. 1600cc

oiil f¢u aru famedl 3 A A8 IR ot :

[Question ID = 364][Question Description = 114_39_BIO_AUG22_Q14]
1. A-NI,B-1V,C-1I,D-1

[Option ID = 1453]
2. A-1L,B-l, C-1V,D-1l

[Option ID = 1454]
3. A-IV,B-1Il,C-1,D-1

[Option ID = 1455]
4. A-1,B-1I,C-1V,D-1

[Option ID = 1456]

15) Cannibalism is found in
SIRHESIVI A URII Sl 3 -

[Question ID = 365][Question Description = 115_39_BIO_AUG22_Q15]
1. Java Man



Sirar dot

[Option ID = 1457]
2. Peking Man

difdser dter

[Option ID = 1458]
3. Cromagnon Man

DYdAoTetel Hol

[Option ID = 1459]
4. Peking and Cromagnon Man

@it e ldiorotet Aol
[Option ID = 1460]

16) Match List | with List Il

List | List Il

Organisms Connecting Link Between
A. Neoplina I. Fish and Tetrapods

B. Latimeria Il. Annelida and Molluscs
C. Seymouria lll. Amphibian and Reptiles
D. Proterospongid|lV. Protozoa and Porifera

Choose the correct answer from the options given below:

It -1 B e -1l A gakma B

et - | et -1

- dta &t w3t @Y Siso aren
A. forenfteromn |. ekt silz eqquisa

B. cifeaf=n Il. woiferst ik e
C.Agf=n lll. 3sRER 3R IER_a

D. gieruifsrn IV. gicisiisn siiR aifeesar

oif<l feu oru fpedl 3 A A8 3R gfore :

[Question ID = 366][Question Description = 116_39_BIO_AUG22_Q16]
1. A-,B-1I,C-1l,D-1IV

[Option ID = 1461]
2. A-1l,B-IV,C-1,D-1Il

[Option ID = 1462]
3. A-1L,B-NI,C-1,D-1IV

[Option ID = 1463]
4. A-1,B-1,C-1ll,D-1IV

[Option ID = 1464]
17) Development of simpler less elaborate forms from complex ones

Sifeet #Ul A DA faqd e WUl DI fadrRT
[Question ID = 367][Question Description = 117_39_BIO_AUG22_Q17]
1. Progressive Evolution
yerferofiet faraprat
[Option ID = 1465]
2. Adaptive Radiation
3oyt fafepzor
[Option ID = 1466]
3. Retrogressive Evolution
yfeemstt Rt

[Option ID = 1467]
4. Parallel Evolution



JAAToTicR fraprT

[Option ID = 1468]

18) Theory of 'Natural Selection' proposed by

grafie e @ Rigia o1 yzama

[Question ID = 368][Question Description = 118_39_BIO_AUG22_Q18]
1. Charles Darwin

arc3f sifdfor

[Option ID = 1469]
2. James Hutton

ST 8ol

[Option ID = 1470]
3. Charles Lyell

aref dect

[Option ID = 1471]
4. Herbert Spencer

add W
[Option ID = 1472]

19) Rapid multiplication leads to -
caf¥d spuret A -
[Question ID = 369][Question Description = 119_39_BIO_AUG22_Q19]

1. Geometrical Progression
Senfareter gerfer

[Option ID = 1473]
2. Natural selection

YD arRIel

[Option ID = 1474]
3. Suvival of fittest

A fibe @1 Sftder

[Option ID = 1475]
4. Struggle for Existence

3if¥cca @ fere et
[Option ID = 1476]

20) Lobe of the brain that controls hearing and balance is

FRacE B Blot 2l Risw 9faur a igcrel @l orifela wdl 3

[Question ID = 370][Question Description = 120_39_BIO_AUG22_Q20]
1. Occipital

SlojbuIcT

[Option ID = 1477]
2. Parietal

Tersea
[Option ID = 1478]
3. Frontal

cIcTifeT

[Option ID = 1479]
4. Temporal

e

[Option ID = 1480]



21) Green algae- Chlorophyceae

A. The major Pigments are Chlorophyll a, b and fucoxanthin

B. Reserve food material is stored in the form of starch

C. Asexual reproduction is by flagellated zoospores produced in zoosporangia
D. Ectocarpus, Volvox, Sargassum, Laminaria

Choose the correct answer from the options given below:

& 91areT (aciRIwrsl)

A. g3 quie geiRifpe u, & ik RIpsios &

B. sm=fgra zarer APE] @1 %sRUT Ierd B WU d siar &

C. acrdisy erreft 3 SIARID Ytotel BIMAERI JARD derdisiu] TR A 3
D. vadlorda, dicdias, ForgH, ot

offa fou s1u frpeul 3 2 & 3a= gferu:

[Question ID = 371][Question Description = 121_39_BIO_AUG22_Q21]
1. Aand B only

A 3iiz B daa

[Option ID = 1481]
2. Cand D only

C 3l D daer

[Option ID = 1482]
3. Band Conly

B 3z C daer

[Option ID = 1483]
4. Aand D only

A 3iiz D daer
[Option ID = 1484]

22) The mode of nutrition in Aspergillus and yeast is

UMSICRI ud e 3 JIuvl &I ybRr

[Question ID = 372][Question Description = 122_39_BIO_AUG22_Q22]
1. Autotrophic

Faureht

[Option ID = 1485]
2. Saprophytic

ol

[Option ID = 1486]
3. Parasitic

aofidt

[Option ID = 1487]
4. Symbiotic

soitdt
[Option ID = 1488]

23) What happens if pressure greater than atmospheric pressure is applied to pure water or a solution?

PR aRISCIRI card A S1f2rd ara 9L ureil A1 fp=l =liel ur cPIRN Sirdr 3 Al a1 den?

[Question ID = 373][Question Description = 123_39_BIO_AUG22_Q23]
1. Water potential stays undisturbed

SicT 3 IS dGelld olat



[Option ID = 1489]
2. Water potential increases

st 3 g
[Option ID = 1490]
3. Water potential decreases

SieT 3t @att

[Option ID = 1491]
4. Diffusion will take place

faRrRur BIeI
[Option ID = 1492]

24) The process of using a natural predator to control a pathogen is called

o=t JAeTSIorD @l foRifefd @al @ fére yrapferd fOrpRl @1 IuRIIeT w0t Dl Y ol el Sidar &

[Question ID = 374][Question Description = 124_39_BIO_AUG22_Q24]
1. genetic engineering

SITQJAIIID SSfiforRIf¥sT

[Option ID = 1493]
2. biological control

SR Brigor

[Option ID = 1494]
3. pathogen control

JerSlold foRIuT

[Option ID = 1495]
4. liniment

fRifric
[Option ID = 1496]

25) Given below are two statements
Statement I: Flowering in some plants depends on the relative duration of light and dark exposure

Statement Il: Some plants require the exposure of light for a period exceeding a well-defined critical duration and are
called long-day plants

In light of the above statements, choose the correct answer from the options given below

ofld <Y werot fw arw 3 &
@Yol - | : @o Uiell 3 Bel 3Mloll Y19l 312 i8R dI ATUST srafdr u? forfz wzer 3
D - || : T Uit oI v <l aws A ufesnfta dscayvl saf?y A s1f2rep sm@f?n & fore goror @ u® & smavamar aidl 3 sii 36d S gty
IciiRI GIfY sl Sl 3
IRl Dol d ircle 3 orefeRaa el 3 A & 3a= gl -
[Question ID = 375][Question Description = 125_39_BIO_AUG22_Q25]
1. Both Statement | and Statement Il are true
ool | 3R || el 35t &

[Option ID = 1497]
2. Both Statement | and Statement Il are false

el | 3tz || el arera &

[Option ID = 1498]
3. Statement | is true but Statement Il is false

el | Aé 3, fpog werr || srera 3

[Option ID = 1499]
4. Statement | is false but Statement Il is true

el | aterd 3, fpog derot || 21t 3



[Option ID = 1500]

26) Isobilateral (Monocotyledonous) Leaf

A. exhibit reticulate venation

B. mesophyll is differentiated into palisade and spongy parenchyma

C. mesophyll is NOT differentiated into palisade and spongy parenchyma

D. In grasses, certain adaxial epidermal cells along the veins modify into bulliform cells

Choose the correct answer from the options given below:

aafgagh (Meimifecsiort) ud

A. Sirefier BRIR® ygfdfa o 3

B. 3=ilftbet @I uferRis iR FuUsH Rowrsar 3 faifsd foar sk 8

C. IRiiftber I are iz Fusll Newrsar I fnfea oidl fpan s 3

D. ardl &, PRI & A1 @ uSidrida eftssda oifdron, gfensist oifdrorsil 3 dge siredl 3
ofil R e Riedl 3 A 218 saz gere:

[Question ID = 376][Question Description = 126_39_BIO_AUG22_Q26]
1. A, BandD only

A, B gtz D daer

[Option ID = 1501]
2. Cand D only

C 3z D daa

[Option ID = 1502]
3. BandD only

B 3iiz D daer

[Option ID = 1503]
4. Aand D only

A 3iz D @&aer

[Option ID = 1504]

27) An important application of biotechnology in the field of agriculture is to

DY @ gie A Sia GienfPrdbl oI b Ascayyl eIyleT 3:

[Question ID = 377][Question Description = 127_39_BIO_AUG22_Q27]
1. increase the use of Nitrogen, Phosphorus and Sulphur

GISQISTol, BIFWIA 3l AcH2 BT IUNST TSIl

[Option ID = 1505]
2. increase the vigor of pests and nematodes

Ict 3l Jgpiird Bt darpa asren

[Option ID = 1506]
3. produce pest-resistant varieties of plants

dieli b1 Pl yfeRiel bl @1 Icurcel i

[Option ID = 1507]
4. cause stress in plants

dielf 3 dotra el 2ol @ fere
[Option ID = 1508]

28) Which among the following statements is incorrect about Fungi?
Dacd D aiR A forgafcilRaa 3 A Blel AT SRATel 3Terd 3

[Question ID = 378][Question Description = 128_39_BIO_AUG22_Q28]
1. Heterotrophic mode of nutrition



3ol UIvul @ 31 31 fawet i &

[Option ID = 1509]
2. Reproduction takes place via vegetative, asexual and sexual modes

@ad 3 Yoiofol dorufer, SIcIBID 3liz Afdra fférRit o areers A dlar &

[Option ID = 1510]
3. Prefer dry and cold habitats

I 31 B3 Srraril I grerfarpdr S &

[Option ID = 1511]
4. Ascomycetes are commonly called sac-fungi

TIPS DI WPIAR W AD-BYG D8l Il 8
[Option ID = 1512]

29) Which of the following is NOT an advantage of bio-diesel?
forgatferRaa 3 3 Blet A1 aRN-SlSter 1 a1 o1 37
[Question ID = 379][Question Description = 129_39_BIO_AUG22_Q29]
1. It can run any conventional, unmodified diesel engine

g fopeft oft uRuf¥e, sRislferd Sisict $ofol @ Tl Al 3

[Option ID = 1513]
2. It can be used alone or mixed with fuel (petroleum diesel)

SADT IWRNGT DA AT Serol (VAR Stotet) @ rer fopem S Adar 2

[Option ID = 1514]
3. Biodiesel is non-biodegradable

IRISISIC 313 ARNfSISdc &

[Option ID = 1515]
4. It has a high flash point compared to petroleum diesel fuel

0 UQICRIT Siolet $eroT I etoll 3f 3T U9l Wise 3
[Option ID = 1516]

30) Match List | with List Il

List | List Il

A. 1AA I. Bolting

B. ABA Il. Ripening of Fruits
C. GA Ill. Weed Free Lawns|
D. Ethylene|lV. Stomatal Closure

Choose the correct answer from the options given below:

Il -1 ot gt -1 2 difera difsro ¢

xet -1 et -l

A. 1AA |. dicifest

B. ABA Il. well @1 udbont

C. GA Ill. TRUAar ¥ dis
D. ufercilor IV. 3¢ aat

il fou o1 fseul 3 I A IR gom ©

[Question ID = 380][Question Description = 130_39_BIO_AUG22_Q30]
1. A-IV,B-lll,C-1l,D-1I

[Option ID = 1517]
2. A-1Il,B-IV,C-1,D-Il

[Option ID = 1518]
3.A-IV,B-1ll,C-1,D-1l

[Option ID = 1519]
4. A-1,B-IV,C-1l,D-1

[Option ID = 1520]




31) Match List | with List Il

List | List Il
A. Ball and socket joint|l. joint between the first and second vertebrae in the neck
B. Hinge joint Il. knee and elbow joints
C. Pivot joint lll. wrist joints
D. Gliding joint IV. hip joint or shoulder joint
V. first pair of ribs and the sternum

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -1l
A. 3ic 3R Jdidc @I SIS ||, 35T 3 Usd 3R IR PASPII D did BT Al
B. ®Ist @I SIS 1. geor 3R Plsoll D SIS
C. gl siis lll. errs & sirs
D. scrrsf3er Sirs IV. ©cd @I SIS A1 BE DI SIS

V. uaferil 3iiz 32AfFer @1 usd SIS BT SIS

offc feu aru frpedl 3 3 13l 3R gfore :

[Question ID = 381][Question Description = 131_39_BIO_AUG22_Q31]
1. A-IV,B-1I,C-1,D-1l

[Option ID = 1521]
2. A-V,B-1I,C-IV,D- 1l

[Option ID = 1522]
3. A-IV,B-1Il,C-1,D-Il

[Option ID = 1523]
4. A-IV,B-1l,C-I,D-V

[Option ID = 1524]

32) A lake near a village suffered heavy mortality of fish within a few days. Consider the following reasons for this
A. lots of urea and phosphate fertilizer were used in the crops in the vicinity

B. the area was sprayed with DDT by an aircraft

C. the lake water turned green and stinky

D. phytoplankton populations in the lake declined initially thereby greatly reducing photosynthesis

Which two of the above were the main causes of fish mortality in the lake?

3Tiq @ UrRl o sfial d @ 8 ol i asferll & url dlq 3l o s3d fore BRI & ABa
A. RIURT &I wBAcil 3 I iR Birbe Idvpl @I ggd IuIPI g SR

B. 8iq & v faamer g1 SI81E @1 fyswra fosan srRi

C. sfier @1 urell &1 3ii? gegeR 8l arRn

D. sftar 3 wrscltcticbeat &t smarcl 3 9 3 Batt g, PRI BIARIARRT # orbl o s
SURIRD 3 A Dlol A Sl DRYI siict 3 ABICRIT DI g DI IR PRI A?

[Question ID = 382][Question Description = 132_39_BIO_AUG22_Q32]
1. Band Conly
B siiz C daer

[Option ID = 1525]
2. BandD only

B 3iiz D daer

[Option ID = 1526]
3. Aand D only

A 3iiz D dact

[Option ID = 1527]
4. Aand Conly



A siiz C dact
[Option ID = 1528]

33) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : After hearing a sound, nerve impulse passes from neurons to the brain

Reason R : the neurons which pass nerve impulses from body organ to the brain are called afferent neuron

In light of the above statements, choose the correct answer from the options given below

off<l S Dol e are 3 : wop I sifirpere (A) 3iik R @I ad (R) @1 sk 3
aifdrperet (A) : eafor Hotol D dIg, dfefed1 3MdeI =i A AR a® SIar 3
a® (R) : oz @ 3ie1 A ARTSE Ao dfeet dsil o urf¥d w2l arel I3 dI Afard w=Eiel ®el Sl 3
SWRTe DUl B 3rciied A forvotifepa farpeal 3 2 AL Ia= ol ¢
[Question ID = 383][Question Description = 133_39_BIO_AUG22_Q33]
1. Both A and R are true and R is the correct explanation of A
(A) 3iz (R) cleil 1t & 3l (R), (A) &I 18l carcen &

[Option ID = 1529]
2. Both A and R are true but R is NOT the correct explanation of A

(A) 3iiz (R) cloil 3t & udog (R), (A) &t 3@t =mzn ol 3

[Option ID = 1530]
3. Ais true but R is false

(A) &t 8 wog (R) &t o1dl &

[Option ID = 1531]
4. Ais false but R is true

(A) 1 ol 3 weog (R) 21t &
[Option ID = 1532]

34) A person has been on a hunger strike for seven days. Compared to normal, he has
uep Ifth AT il A Y 3sdrcd IR 3 ATHATGA DI Jeloll A a8 DT 3

[Question ID = 384][Question Description = 134_39_BIO_AUG22_Q34]
1. increased release of fatty acids from adipose tissue, ketosis and ketonuria

Gi$dlsI 3am, PICIRRL 3l DIl 3 Bt vRis @I 3ifid 3etsion

[Option ID = 1533]
2. elevated glucose concentration in the blood

¥ 3 Feat degpIet A i

[Option ID = 1534]
3. increased plasma insulin concentration

CelIGHI SYfetol Aigal 3t gis
[Option ID = 1535]
4. increased glycogen synthetase enzyme activity in the liver

2T 3 SeTrsBIStor RidRT GolsaT SHRIfAfer 3t gfiy
[Option ID = 1536]

35) Sequentially arrange the blood flow through the pulmonary circulation

A. left atrium

B. lungs

C. right ventricle

D. pulmonary artery

E. pulmonary vein

Choose the correct answer from the options given below



BUEARI ATRUT O AR A I DI Ydis
A. qrIf 3ifera

B. vw3

C. crif forerr

D. wwg:i el

E. wupzik forr

il e a1e fraoedl A Stare goi

[Question ID = 385][Question Description = 135_39_BIO_AUG22_Q35]
1. C,B,D, E, A

[Option ID = 1537]
2. AE,C,D,B

[Option ID = 1538]
3. C,D,B,E, A

[Option ID = 1539]
4. A,C,B,E,D

[Option ID = 1540]

36) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Nitrogen-fixing bacteria of legume root nodules survive in oxygen-depleted cells

Reason R : Leghaemoglobin completely removes oxygen from nodule cells

In light of the above statements, choose the correct answer from the options given below

il S werel fRu 31w 3@ uap @t siftrperet (A) 3iiR g3 @Y ads (R) @ar sRI 3
aifdrperet (A) @ CISRIF ¢ olIgYcA D olIsgislol-fbfdrier daéifeen sifafisrer-M3a aifdrmisii # shfea aa &
a® (R) : cei3Aeefeer siiger DIfdrmIsii A sifafisiel oI gl are A aeI Sar 3
SWRTH DUl B 3rciled A forvotifepa farpedl 3 A A8 I= ol ¢
[Question ID = 386][Question Description = 136_39_BIO_AUG22_Q36]
1. Both A and R are true and R is the correct explanation of A
(A) 3R (R) clell 2@t & 3R (R), (A) & M waren &

[Option ID = 1541]
2. Both A and R are true but R is NOT the correct explanation of A

(A) stz (R) cloll 31t 8 udsg (R), (A) & 3 wmeen o8t 8

[Option ID = 1542]
3. Ais true but R is false

(A) 2wt 8 weog (R) et ot &

[Option ID = 1543]
4. Ais false but R is true

(A) & ol 3 weog (R) 28 &
[Option ID = 1544]

37) In a biosphere reserve, core zone, buffer zone and transition zone, respectively represent

Uh TRIFBR f¥a1d 3, PR Silol, aw? Silol 3 ¢ifsterst Sitel aparor: gferfoiférra wa 3

[Question ID = 387][Question Description = 137_39_BIO_AUG22_Q37]
1. Limited human activity, no human activity and full human activity without ecological disturbance

i srordier siferfafer, gfeer sirordier siferfafer iz g3t srordi=r sifeifafer @ fdom uRerferb! srsast

[Option ID = 1545]
2. Full human activity without ecological disturbance, limited human activity and no human activity

ot wibRerferbiRr srserst yuf sirerdier siferfafer, e srordier siferfafer siie oIS sordier siferfafer ordt



[Option ID = 1546]
3. No human activity, limited human activity and full human activity without ecological disturbance

9l ATordRI arferfafer, M arordier arferfafer sfiz yof aerdier siferfafer fdon uRerferb! srsast

[Option ID = 1547]
4. Full human activity without ecological disturbance, no human activity and limited human activity

yuf aerdier siferfafer o wiRBerferbRI srsas, era aiferfafer aen fd srordler siferfafer

[Option ID = 1548]

38) Ecological succession
A. Hydrarch succession progresses from mesic and hydric conditions

B. During succession, there is a change in species diversity, a decrease in the number of species and a decrease in total
biomass

C. In succession, individual transitional communities are termed seral stages
D. Succession and evolution were parallel processes
E. In primary succession on rocks (xerophytic habitat), the seral stage next to the lichens is generally Bryophytes

Choose the correct answer from the options given below:

wRerferebl sroyasvrT

A. s1s3rd sigiaavT AR 3R sl Reaftril A et agar 3

B. 3roIadvT @ Sivret, genferl <t fafderar 3 af¥ader siar 3, yenferil &I Jizen 3 @l aicll 3 3l @ arRRT A ol 3Kl 3
C. 31oIapdvl 3, cAftpaId AAvIPbIcilel AASRI DI HRIB TAVT BaI ST 3

D. sropazevr 3iiz faprT Feretiar yfepme off

E. agreil ur greIfiie sioapd i (SRIBER® 3dR1), cisdol @ eI e I 314 dlR UR JRIGISSRA Bldl 3

ofid 3w s1v fawcul & A A8 3a= gfor:

[Question ID = 388][Question Description = 138_39_BIO_AUG22_Q38]
1. AandE only

A 3iz E daa

[Option ID = 1549]
2. B, Cand D only

B, C 3iiz D @aa

[Option ID = 1550]
3. C,DandE only

C, D 3iiz E ®daar

[Option ID = 1551]
4. Band D only

B 3iiz D @daer

[Option ID = 1552]

39) In the homeostatic control of blood sugar level, which organs function as modulator and effector respectively?
P IBA IR D BRI oriqur 3, PBlel A 30T GI9r: HigYclez MR sWaeR D P4 A PRI B 37

[Question ID = 389][Question Description = 139_39_BIO_AUG22_Q39]
1. lIslet of Langerhans and hypothalamus
35l 3w chR &3 3R sEulblclA

[Option ID = 1553]
2. Hypothalamus and islet of Langerhans

BISUIRICIART 32 SMSCICRA 3w ClorREA

[Option ID = 1554]
3. Liver and islet of Langerhans

cffae e srseicet Sifw chord



[Option ID = 1555]
4. Hypothalamus and liver

BIEUIAIeRT 3l ADd
[Option ID = 1556]

40) An action potential in the nerve fibre is produced when positive and negative charges on the outside and the inside of
the axon membrane are reversed, because

dfefT wrEaR d v Ya9rel Ui 3cusol ldl 3 S |18 3R 31gidd Ricell @ 3ic? IPRIAD 3R IDPRICHD UTAI IeIc SIId 3, TRIIfd

[Question ID = 390][Question Description = 140_39_BIO_AUG22_Q40]
1. More potassium enters the axon as compared to sodium ions leaving it

ST 3IRI6H DI BISol Dl gefoll 3 Afed UIIRIA aRilel I ydor ddl &

[Option ID = 1557]
2. More sodium enters the axon as compared to potassium ions leaving it

UIRfSRIA 3RIGI I BISol I detoll 3 e AlfSeA 3teicq 3 gdor o &

[Option ID = 1558]
3. All potassium ions leave the axon

219ft WIRIORIT SIRIGT TaRilel BISd 3

[Option ID = 1559]
4. All sodium ions enter the axon

J10ft NS SIRIGT 318Iq 3 Ydor Bl &
[Option ID = 1560]

41) A population of Rothschild’s giraffe lives in the woodlands of Uganda with trees of varying heights. Following a flood in
the area, all shorter plants were uprooted but taller trees survived the flood. After several generations, it is observed that
the giraffes inhabiting the woodlands have longer necks than the giraffes living in the same area prior to the flood. Which of
the following evolutionary phenomenon has occurred in Rothschild’s giraffes?

JAearses RIE ®f MEIST JoIisT B Siorel 3 ICPI-3ICRI Hdrs d Us] d AT Wcil 8 &g 3 dIi6 D dig, Wl BT Ul IXS 318 dlfbd odd Us 916
A ga s @f difgl @ arg, Az a1 orn 3 b Sierar 3 6ol ardl RBrRb! &Y 91l a1 A usd 3l 8 3 ol arct KRRt &t qeton 3 cidl 2t 3
Aerarses R 3 forafiRaa 3 A @l Ml ferIard acon afeqa g 3?7

[Question ID = 391][Question Description = 141_39_BIO_AUG22_Q41]
1. Extreme selection

31D TRIeT

[Option ID = 1561]
2. Stabilizing selection

aRIGT bl e aalr

[Option ID = 1562]
3. Disruptive selection

ferercorp Rt arIol

[Option ID = 1563]
4. Directional selection

f&orcara aRIer

[Option ID = 1564]

42) Incontinentia pigmenti is a rare X-linked dominant disorder that affects the skin, hair, teeth, nails and central nervous
system. If the offspring of a certain cross has a 50% chance of receiving the disease, regardless of gender, which of the
following statements is true?

gopfocolfean RPRIE v ool vazi-feias gy faprR 3 Sl caan, arcdl, sidl, oIRgell 3R D dfef! dq @l Yenfaa mar 3 oo forf2aa @ &
Jdrel ot ag fiArs gra st df 50% srraon Xl 3, a1 as ool ot it 1 a=il of A forgor A A Bt A1 Deret A8 3 ?

[Question ID = 392][Question Description = 142_39_BIO_AUG22_Q42]
1. The father has the disease.

e o &
[Option ID = 1565]



2. The mother does not have the disease.
i o) it odt 3

[Option ID = 1566]
3. The mother is homozygous for the disease.

#i ot D oo Jerpast ardt 2

[Option ID = 1567]
4. The mother is heterozygous for the disease.

a1 521 st B fore fawerpast 3
[Option ID = 1568]

43) Which of the following is CORRECT statement?

forgetfeiRaa of A wlel AT T8 s=AT0T 3?7

[Question ID = 393][Question Description = 143_39_BIO_AUG22_Q43]
1. Pleiotropic genes exhibit single phenotype.

R Sfiet vaper Woilersu Ygfdfa @ &

[Option ID = 1569]
2. Pleiotropy is caused by a gene that has multiple phenotypic effects.

R v Sl D BRUT il & fSRID &S WollcIsu YaId ald &

[Option ID = 1570]
3. Sickle cell anaemia is an example of multifactorial inheritance.

Rircpet el TollfdRI TEDRORI [RRIA DI BD 38T &

[Option ID = 1571]
4. Lethal genes causes the appearance of ancestral characters.

HIAD Stiot Ydsil & Uil BT Yabeol GoIfd 3
[Option ID = 1572]

44) Which of these are examples of passive transport?
A. Simple diffusion

B. Osmosis

C. Endocytosis

D. Symport pumps

E. Facilitated diffusion

Choose the correct answer from the options given below:

Sotdl A PBlot A forfeapzr ul¥aser @ IersvT 3?7

A. ra QIR
B. sifzaIRra
C. gsrasdaia
D. Rpmaré du

E. Jom1 IR
il feu sru faeedl 3 A A8 Ia= gforw

[Question ID = 394][Question Description = 144_39_BIO_AUG22_Q44]
1. A, BandD only

A, B 3z D daa

[Option ID = 1573]
2. A, BandConly

A, B 3ik C dae
[Option ID = 1574]



3. A, B, and E only
A, B 3iiz E daa

[Option ID = 1575]
4. A, B, D and E only

A, B, D iz E @acr
[Option ID = 1576]

45) Match List | with List Il

List | List Il
A. Alignment of tetrads on the equatorial plate|l. Crossing over
B. Genetic diversity Il. Anaphase |
C. Centriole duplication lll. Telophase
D. Cytokinesis IV. S Phase

V. Metaphase |

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 Rxeh -1l

A. FEREIR WIc UR IS I A3W0T |. faformr

B. siopdfdre fafeerar Il. gormdst |

C. Asia eaa lll. crdst

D. ArscIorsoliReg IV. w1 @RI
V. Jrerss |

offc feu sru fpedl 3 3 13 3R gfore :

[Question ID = 395][Question Description = 145_39_BIO_AUG22_Q45]
1. A-,B-1,C-Ill,D-IV

[Option ID = 1577]
2. A-V,B-1,C-1V,D-Il

[Option ID = 1578]
3. A-V,B-1,C-IV,D-1lIl

[Option ID = 1579]
4. A-1,B-1,C-IV,D- Il

[Option ID = 1580]

46) Given below are two statements
Statement I: Anaphase begins when the cohesin proteins are cleaved.

Statement II: Cohesin is responsible for chromosome condensation during cell divsion.

In light of the above statements, choose the correct answer from the options given below

il Gl oot féu are 3 :
Dol - | : TolBSI ad 9Rs aldI 8 SId iAol Yiclel cear 8
@l - || : D11 fersarsiol @ Sizrel IUIRIe] Herolol @ forg wigor fSFdicr @
SWRTd Dl B 3l A forrarfeiRaa frpeul 3 A 8l 3R gol :
[Question ID = 396][Question Description = 146_39_BIO_AUG22_Q46]
1. Both Statement | and Statement Il are true

el | 3ii2 | Gloil e &

[Option ID = 1581]
2. Both Statement | and Statement Il are false

Dol | 3R || Slall sRier &

[Option ID = 1582]
3. Statement | is true but Statement Il is false

el | 31 8, fipog e || srpie 3



[Option ID = 1583]
4. Statement | is false but Statement Il is true

el | 3R &, fpog et || a1 &

[Option ID = 1584]

47) The radial array of short microtubules that extends from each centrosome is termed as
o ARIcdcl ol HSuet FRufl Sl gRI® arGAarI A fiearf¥da aXdl 3 3 @l Sirar 3

[Question ID = 397][Question Description = 147_39_BIO_AUG22_Q47]
1. Aster

R

[Option ID = 1585]
2. Centrosome

ARDART

[Option ID = 1586]
3. Kinetochore

fepolclpIR

[Option ID = 1587]
4. Microtubules

AT
[Option ID = 1588]

48) Given below are two statements
Statement I: Kinases are enzymes that activate or inactivate other proteins by phosphorylating them.

Statement Il: Kinases that drive the cell cycle are present in an active form but at a constant concentration in the growing
cell.

In light of the above statements, choose the correct answer from the options given below

il &1 werer e are 3 :
Dol - | : DIt Gslisd 3l 3 Sl 3o Yidloll B BiFBRIFAC dId AR ar forfda o 3
Dl - || : DHIDBI Ty B TcTrol Il BrEors! T AfpA U 3 dlsig 31 3 aifdbol aedl Bifdrm 3 forar igar 3 3l &
SR> DAsll B Ircllp I fororfeiRaa fapeul 3 A A8T 3R ol :
[Question ID = 398][Question Description = 148_39_BIO_AUG22_Q48]
1. Both Statement | and Statement Il are true
el | 3R || gl e &

[Option ID = 1589]
2. Both Statement | and Statement Il are false

@erol | 3l | Sell sRIcr &

[Option ID = 1590]
3. Statement | is true but Statement Il is false

el | 3T 8, fpog et || it

[Option ID = 1591]
4. Statement | is false but Statement Il is true

el | 3R &, fpog et || a1 &

[Option ID = 1592]

49) The drug Swinholide sequesters actin dimers and blocks the function of actin. Which of the following aspect of the
animal cell cycle would be most disrupted by Swinholide?

gar Raoilenss ufrest S1saRi @l Fagaet B2l ufrcar & BRI @I sfasg Buxdl 3 Rasrelarss grI a9l BT aq & foorferRad uscsil 3 2 it
A1 TR 3iferep aifera Sem?

[Question ID = 399][Question Description = 149_39_BIO_AUG22_Q49]



1. Spindle formation
Ruse @1 fomfor
[Option ID = 1593]

2. Spindle attachment to kinetochores
PrsolcIpRi 3 Ruse @I Jsa

[Option ID = 1594]
3. Cell elongation during anaphase

lDST D GI2Tol DISIDT bl fazdre

[Option ID = 1595]
4. Cleavage furrow formation and cytokinesis

FefldsT wIRI widtore 3l ATSIBREoIRRI
[Option ID = 1596]

50) In which of the following steps of glycolysis neither ATP is produced nor hydrolyzed?

forgoiferRae 3 3 Blol APAEDIARTT B TRUT o dl Tl BI Icurgel B 3 3iI= of 3l FEIIcEss?

[Question ID = 400][Question Description = 150_39_BIO_AUG22_Q50]
1. Glucose — glucose-6-phosphate

SeIDIST — SDISI-6 Bizbe

[Option ID = 1597]
2. Phosphoenolpyruvate — pyruvate

BRBISAICURIBAC — URIBAC

[Option ID = 1598]
3. Fructose-6-phosphate — fructose-1,6-bisphosphate

BACRI-6 BB — Hacki-1,6-dsbRBC

[Option ID = 1599]
4. Glyceraldehyde-3-phosphate — 1,3-bisphosphoglycerate

BerRIftssss-3 Bizve — 1, 3-ASBRBISASIRT
[Option ID = 1600]






